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khjphpj;Njh;T - 1 
nghJ mwpT  

 
Fwpg;G: khzth;fs; jq;fsJ ngah;> ifg;Ngrp vz; kw;Wk; gjpT vz;iz tpilj;jhspy; (OMR) 
Fwpg;gpLkhW mwpTWj;jg;gLfpwhh;fs; 

 

Neuk;: 3 kzp           nkhj;j kjpg;ngz;fs;: 300 

 

tpdhf;fSf;F gjpyspf;Fk; Kd; fPo;f;fz;l mwpTiufis ftdkhfg; gbf;fTk; 

1. ,e;j tpdhj;njhFg;G> Njh;T njhlq;Ftjw;F 15 epkplq;fSf;F Kd;djhf cq;fSf;F toq;fg;gLk; 
 

2. ,e;j tpdhj;njhFg;G 200 tpdhf;fisf; nfhz;Ls;sJ. tpilaspf;fj; njhlq;FKd; ,t;tpdhj;njhFg;gpy; vy;yh 
tpdhf;fSk; thpirahf ,lk; ngw;Ws;sdth vd;gijAk;> ,ilapy; ntw;Wj;jhs;fs; vitAk; ,y;iy 
vd;gijAk; cWjp nra;J nfhs;sTk;. tpdhj;njhFg;gpy; VNjDk; FiwghL ,Ug;gpd;> mjid Kjy; gj;J 
epkplq;fSf;Fs; miwf;fz;fhzpg;ghshplk; njhptpj;J> rhpahf cs;s NtnwhU tpdhj;njhFg;gpid 
ngw;Wf;nfhs;s Ntz;Lk;. Njh;T njhlq;fpa gpd;G ,J Fwpj;J Kiwapl;lhy; tpdhj;njhFg;G khw;wpj; 
jug;glkhl;lhJ. 
 

3. vy;yh tpdhf;fSf;Fk; tpilaspf;fTk;> vy;yh tpdhf;fSk; rkkhd kjpg;ngz;fs; nfhz;lit. 
 

4. cq;fSila gjpT vz;iz ,e;jg;gf;fj;jpd; tyJ Nky; %iyapy; mjw;nfd mike;Js;s ,lj;jpy; ePq;fs; 
vOj Ntz;Lk;. NtW vijAk; tpdhj;njhFg;gpy; vOjf;$lhJ. 
 

5. tpilj;jhs; xd;W tpilfis Fwpg;gjw;F miwf;fz;fhzpg;ghsuhy; cq;fSf;F toq;fg;gLk;. tpilfisf; 
Fwpg;gJ cs;spl;l mtrpak; gpd;gw;wg;gl Ntz;ba mwpTiufs; tpilj;jhspYk; Njh;Tf;$l mDkjpr;rPl;bYk; 
toq;fg;gl;Ls;sd. 
 

6. cq;fSila tpdhj;njhFg;G vz;iz (Question Booklet Number) tpilj;jhspd; Kjy; gf;fj;jpy; mjw;nfd 
mike;Js;s ,lj;jpy; fUik epw ikAila ge;JKiwg; Ngdhtpdhy; Fwpj;Jf;fhl;lNtz;Lk;. tpdhj;njhFg;G 
vz;iz tpilj;jhspy; rhpahff; Fwpj;Jf;fhl;lj; jtwpdhNyh my;yJ Fwpf;fj; jtwpdhNyh cq;fSila 
tpilj;jhs; nry;yhjjhf;fg;gLk;. 

 
7. xt;nthU tpdhTk; (A) (B) (C) (D) (E) vd Ie;J gjpy;fisf; nfhz;Ls;sJ. ePq;fs; (A) my;yJ (B) my;yJ 

(C) my;yJ (D) ,itfspy; xNu xU rhpahd tpiliaj; njhpT nra;J tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. 
xU Nfs;tpf;F xd;Wf;F Nkw;gl;l rhpahd tpil ,Ug;gjhf ePq;fs; fUjpdhy;> kpfr;rhpahdJ vd ePq;fs; 
vijf;fUJfpwPh;fNsh me;j tpilia tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. cq;fSf;F tpil njhpatpy;iy 
vdpy;> ePq;fs; (E) vd;gij mtrpak; epug;gNtz;Lk;. vg;gbahapDk;> xU Nfs;tpf;F xNu xU tpiliaj;jhs; 
Njh;e;njLf;f Ntz;Lk;. ePq;fs; xU Nfs;tpf;F xd;Wf;F Nkw;gl;l tpilaspj;jhy;> mtw;Ws; xU tpil 
rhpahdjhf ,Ue;jhYk; me;j tpil jtwhdjhfNt fUjg;gLk;. 
 

8. ePq;fs; tpdhj;njhFg;gpd; ve;jg; gf;fj;ijAk; ePf;fNth my;yJ fpopf;fNth $lhJ. Njh;T Neuj;jpy; ,e;j 
tpdhj;njhFg;gpidNah my;yJ tpilj;jhisNah Njh;Tf; $lj;ij tpl;L ntspapy; vLj;Jr; nry;yf;$lhJ. 
Njh;T Kbe;jgpd; ePq;fs; cq;fSila tpilj;jhisf; fz;fhzpg;ghshplk; nfhLj;J tpl Ntz;Lk;. 
,t;tpdhj;njhFg;gpidj; Njh;T Kbe;jTld; ePq;fs; cq;fSld; vLj;Jr; nry;yyhk;. 
 

9. Fwpg;Gfs; vOjpg;ghh;g;gjw;F tpdhj;njhFg;gpd; filrp gf;fj;jpw;F Kd;gf;fj;ij cgNahfpj;Jf; nfhs;syhk;. 
,ijj;jtpu tpdhj;njhFg;gpd; ve;j ,lj;jpYk; ve;jtpj Fwpg;GfisAk; vOjf;$lhJ. ,e;j mwpTiu fz;bg;ghf 
gpd;gw;wg;glNtz;Lk;. 
 

10. Mq;fpy tbtpy; nfhLf;fg;gl;Ls;s Fwpg;Gfs;jhd; KbthdjhFk;. 
 

11. ePq;fs; Nkw;fz;l mwpTiufspy; vtw;iwahtJ gpd;gw;wj; jtwpdhy; Njh;thizak; vLf;Fk; eltbf;iffSf;F 
cs;shf NehpLk; vd mwpTWj;jg;gLfpwJ. 
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1. Electric generator is a device which converts _______ energy into ____ energy. 
a. Mechanical, Electrical  b. Electrical, Electronics c. Electrical, Chemical   
d. Electrical, Mechanical  e. Answer not known 
kpd;dpaw;wp vd;gJ __________ Mw;wiy ______ Mw;wyhf khw;Wk; rhjdkhFk;.  
a. ,ae;jpuk;> kpd;    b. kpd;> kpd;dZ   c. kpd;> ,urhadk;   
d. kpd;> ,ae;jpuk;   e. tpil njhpatpy;iy 

 
2. Consider the following pairs: 

A. Proton - E- 
B. β-particle - 1H1 
C. Neutrons  - No mass but definite charge 
D. Electrons - No charge and no mass 
Which of these are not correctly matched? 
a. A and B   b. A and C     c. B, C and D   
d. A, B, C and D  e. Answer not known 
gpd;tUk; ,izfis Ma;f.  
A. GNuhl;lhd;   - E- 
B. β-Jfs;   - 1H1  
C. epA+l;uhd;fs;   - epiw ,y;iy Mdhy; kpd;D}l;lk; cz;L  
D. vyf;l;uhd;fs;   - kpd;D}l;lk; kw;Wk; epiw ,y;iy  

 ,tw;wpy; vJ rhpahfg; nghUe;jtpy;iy?  
 a. A kw;Wk; B   b. A kw;Wk; C    c. B, C kw;Wk; D  

d. A, B, C kw;Wk; D   e. tpil njhpatpy;iy 
 

3. Name the Mughal ruler who was defeated by the British East India company at the Battle 
of Buxar in 1764 
a. Akbar   b. Shah Jahan    c. Sha Alam II                              
d. Aurangazeb  e. Answer not known 
1764 gf;rhh; Nghhpy; Mq;fpNya fpof;fpe;jpa fk;ngdpahy; Njhw;fbf;fg;gl;l Kfyha kd;dhpd; 
ngaiu Fwpg;gpLf.  
a. mf;gh;    b. ~h[`hd;    c. ,uz;lhk; ~h Myk;   
d. xsuq;frPg;   e. tpil njhpatpy;iy 

 
4. Arrange the following events in chronological order/event type: 

1. Revolt at Danapur 
2. Revolt at Meerut 
3. Death of Rani Lakshmibai of Jhansi 
4. Mangal Pande was hanged to death 
a. 2, 3,1, 4   b. 1, 2, 4, 3   c. 4, 2, 1, 3 
d. 3, 1, 4, 2   e. Answer not known 
gpd;tUk; epfo;Tfis fhythpirg;gb ∕ epfo;T tifapd;gb xOq;fikf;fTk;. 
1. jhdhG+hpy; fpsh;r;rp 
2. kPul;by; fpsh;r;rp 
3. [hd;rpapd; uhzp yl;Rkpgha; kuzk; 
4. kq;fs; ghz;Nl J}f;fpyplg;gl;lJ 
a. 2> 3> 1> 4   b. 1> 2> 4> 3   c. 4> 2> 1> 3 
d. 3> 1> 4> 2   e. tpil njhpatpy;iy 

 

5. Electromagnetic waves have which of the following polarizations? 
a. Longitudinal     b. Transverse 
c. Both longitudinal and transverse  d. No polarization 
e. Answer not known 
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kpd;fhe;j miyfspy; vjdhy; jstpisT fhzg;gLfpd;wJ?  
a. nel;liyg;gz;G     b. FWf;fiyg; gz;G  

c. nel;liy kw;Wk; FWf;fiy gz;Gfs;  d. jstpisT ,y;iy  
e. tpil njhpatpy;iy 

 
6. Television signals are: 

a. Frequency modulated      
b. Amplitude modulated 
c. Both frequency and amplitude modulated 
d. Phase modulated 
e. Answer not known 
njhiyf;fhl;rp iriffs;> ___________.  
a. mjph;ntz; gz;Ngw;wg;gl;lJ 
b. tPr;R gz;Ngw;wg;gl;lJ  
c. mjph;ntz; (k) tPr;R gz;Ngw;wg;gl;lJ 
d. fl;lk; gz;Ngw;wg;gl;lJ 
e. tpil njhpatpy;iy 

 
7. Christianity was first brought to India by ____ an apostle of Christ in the first century A.D. 

a. Saint Peter   b. Saint John   c. Saint Matthew  
d. Saint Thomas  e. Answer not known 
fp.gp. Kjyhk; E}w;whz;by; fpUj;Jt kjk; ,e;jpahtpy; ,NaRtpd; rPluhd ______ vd;gtuhy; 
nfhz;L tug;gl;lJ. 
a. Gdpj gPl;lh;  b. Gdpj [hd;  c. Gdpj Nkj;A+ 
d. Gdpj jhk];  e. tpil njhpatpy;iy 

 
8. Choose the correct statements about Dr. Muthulakshmi 

I. She was personally praised by Gandhiji for her active propaganda against 
untouchability 

II. She organised All India women conference at Pune in 1930 
III. She was the president of women India Association from 1933 – 1947 
a. I, II    b. I, III     c. II, III 
d. all the above  e. Answer not known 
Dr. Kj;Jnyl;Rkp gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,th; jPz;lhikf;F vjpuhf jPtpukhf gpur;rhuk; nra;jjw;fhf fhe;jp[pahy; jdpg;gl;l 

Kiwapy; ghuhl;lg;gl;lhh;. 
II. 1930Mk; Mz;by; GNdtpy; mfpy ,e;jpa kfsph; khehl;il Vw;ghL nra;jhh;. 
III. ,th; 1933 Kjy; 1947 tiu ,e;jpa ngz;fs; rq;fj;jpd; jiytuhf ,Ue;jhh;. 
a. I, II    b. I, III     c. II, III 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

9. Soap and detergents help remove dirt from clothes it does so because of having two parts: 
a. Hydrophilic, neutrophilic  b. Both the Hydrophobic 
c. Hydrophilic and Hydrophobic  d. Neutrophilic, hydrophobic 
e. Answer not known 
vt;tifapy; Nrhg;G kw;Wk; rth;f;fhuk; Jzpfspy; cs;s mOf;if mfw;WfpwJ NkYk; ,J 
,uz;L gFjpfshf gphpf;fg;gLfpwJ.  
a. i`l;Nuh/gpypf;> epA+l;Nuhgpypf;   
b. ,uz;Lk; i`l;Nuh/Nghgpf;  
c. i`l;Nuh/gpypf; kw;Wk; i`l;NuhNghgpf;  
d. epA+l;Nuhgpypf;> i`l;NuhNghgpf; 
e. tpil njhpatpy;iy 



 

5 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

10. What is a syngas? 
a. It is a gas mixture of CO, H2, CO2 and N2 
b. It is a gas mixture of CH4, O2 and CO 
c. It is a gas mixture of CH4, CO2, N2, H2 and O2 
d. It is a gas mixture of H2 and O2 
e. Answer not known 
nraw;if vhpthA vd;why; vd;d?  
a. ,it CO, H2, CO2 kw;Wk; N2 Mfpa thAfspd; fyitahFk;.  
b. ,it CH4, O2 kw;Wk; CO Mfpatw;wpd; thA fyitahFk;  
c. ,it CH4, CO2, N2, H2 kw;Wk; O2 Mfpatw;wpd; thA fyitahFk;  
d. ,it H2 kw;Wk; O2 thA fyitahFk;  
e. tpil njhpatpy;iy 

 
11. Choose the correct statements about Dr. S. Dharmambal 

I. She was born at Karunthattan Kudi near Thanjavur 
II. She participated in the Anti Hindi agitation programme and went to jail 
III. She founded the Chennai Manavar Mandram 
IV. She started Elavu Varam 
a. I, II, IV   b. II, IV   c. I, II, III  
d. All the above  e. Answer not known 
lhf;lh; jh;khk;ghs; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,th; jQ;rht+Uf;F mUfpYs;s fUe;jl;lhd;Fbapy; gpwe;jhh; 
II. ,th; ,e;jp vjph;g;G Nghuhl;lj;jpy; gq;Nfw;W rpiw nrd;whh; 
III. nrd;id khzth; kd;wj;ij epWtpath; 
IV. ,oT thuj;ij elj;jpath; 
a. I, II, IV   b. II, IV    c. I, II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

12. Choose the correct statements about Ambedkar 
I. He was elected to the Bombay Legislative Assembly as a legislator in 1936 
II. He was appointed to the Executive Council of Viceroy as a Labour member in 1942 
III. He resigned from the cabinet in 1953, over differences on the Hindu Code Bill 
a. I, II    b. I, III     c. II, III 
d. All the above  e. Answer not known 
mk;Ngj;fh; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,th; 1936Mk; Mz;by; gk;gha; rl;lkd;wj;jpw;F rl;lkd;w cWg;gpduhf 

Njh;e;njLf;fg;gl;lhh;. 
II. ,th; 1942,y; it];uhapd; eph;thff;FOtpy; njhopyhsh; cWg;gpduhf epakpf;fg;gl;lhh;. 
III. 1953,y; ,e;Jkj kNrhjhtpy; Vw;gl;l fUj;J NtWghl;lhy; mikr;ruitapy; ,Ue;J 

tpyfpdhh;. 
a. I, II    b. I, III     c. II, III 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

13. Fermentation is a process in which: 
a. Organic compound is slowly decomposed into simple substances in presence of O2 
b. Organic compound is slowly decomposed into simple substance in absence of O2 
c. Simple substances is polymerized into complex substances  
d. All of the above 
e. Answer not known 
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nehjpj;jy; tpid vd;gJ __________.  
a. fhpk fyit O2 Kd;dpiyapy; vspa nghUl;fshf nkJthd jd;ikapy; rpijtiljy;  
b. fhpk fyit nkJthd jd;ikapy; O2 my;yhj epiyapy; rpijtiljy;  
c. vspa tpidia rpf;fyhd tpidahf ghypkiu]; nra;ag;gLfpd;wd.  
d. NkNy cs;s midj;Jk;  
e. tpil njhpatpy;iy 

 
14. The combination which can act as a buffer solution is  

a. Sodium acetate, HCI  b. Borax, Boric acid  c. Na2 HPO4, Na3PO4  
d. CH3CO2Na   e. Answer not known 
gpd;tUtdtw;Ws; jhq;fy; fiuryhf nray;glf;$ba Nru;f;if vJ?  
a. Nrhbak; mrpNll;;> HCl   b. Nghuhf;];> (ntz;fhuk;) Nghhpf; mkpyk;  
c. Na2 HPO4, Na3PO4  d. CH3CO2Na 
e. tpil njhpatpy;iy 

 
15. Choose the correct statements about Baghat Singh 

I. He started a militant youth organisation called the Naujawan Bharat Sabha in 1926 
II. He joined the editorial board of Kirti 
III. Baghat Singh and B.K. Dutt throw a bomb in the central legislative assembly on 8, 

April 1929 
a. I, II    b. I, III     c. II, III 
d. All the above  e. Answer not known 
gfj;rpq; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. 1926Mk; Mz;L et[thd; ghuj; rgh vd;w jPtputhj ,isQh; mikg;igj; 

Njhw;Wtpj;jhh; 
II. fPh;j;jp vd;w ,jopd; Mrphpah; FOtpy; Nrh;e;jhh;. 
III. gfj;rpq; kw;Wk; B.K. jj; MfpNahh; Vg;uy; 8> 1929 md;W kj;jpa rl;lkd;wj;jpy; 

ntbFz;L tPrpdh;. 
a. I, II    b. I, III     c. II, III  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

16. 23 March is observed as 
a. Martyr’s Day  b. Shaheed Diwas  c. Sarvodaya Day 
d. All the above  e. Answer not known 
23 khh;r; md;W mDrhpf;fg;gLtJ 
a. jpahfpfs; jpdk;  b. ~h`Pj; jpt];  c. rh;Nthjah jpdk; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
17. Migration of cancerous cells from the site of origin to other part of the body forming 

secondary tumours is called: 
a. Diapedesis    b. Metastasis   c. Proliferation  
d. None of the above e. Answer not known 
Gw;WNeha; nry;fs; Njhd;wpa ,lj;jpypUe;J clypd; kw;w gFjpfSf;F nrd;W ,uz;lhk; 
epiy fl;bfis cUthf;FtJ ______ vd;W miof;fg;gLfpwJ. 

 a. lahgPbrp];   b. nkl;lh];lh]py;  c. ngUf;fkiljy;    
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

18. Black foot disease is caused by: 
a. Excess of fluoride in water b. Deficiency of iodine in water 
c. Excess of arsenic in water d. Excess of iodine in water 
e. Answer not known 
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fhy;fspy; fUg;G epw Gs;sp Nghd;w Neha; (fUg;G fhy; Neha; ) vjd; fhuzkhf 
Vw;gLfpwJ…. 
a. jz;zPupy; cs;s mjpfg;gbahd /g;NshiuL  
b. jz;zPupy; mNahbd; (fhhpak;) FiwghL 
c. jz;zPupy; cs;s mjpfg;gbahd Mh;nrdpf; 
d. jz;zPupy; cs;s mjpfg;gbahd mNahbd; (fhhpak;) 
e. tpil njhpatpy;iy 

 
19. Choose the correct statements 

I. The indian National Army was first formed under Mohan Singh and Japanese Major 
Iwaichi Fujiwara 

II. Subhash earned the title Netaji in Germany by the Indian soldiers of the Azad Hind 
Fauj 

III. Subhash Chandra Boase did not participated in Civil Disobedience Movement 
a. I, II    b. I, II     c. II, III 
d. all the above  e. Answer not known 
rhpahd $w;Wfisj; Njh;f 
I. ,e;jpa Njrpa uhZtk; Kjd; Kjypy; Nkhfd;rpq; kw;Wk; [g;ghdpa Nk[h; ,itr;rp 

G[pthuh MfpNahhpd; fPo; cUthf;fg;gl;lJ. 
II. Rgh~; n[h;kdpapy; Mrhj; `pe;j; gT[pd; ,e;jpa tPuh;fshy; Nejh[p vd;w gl;lj;ijg; 

ngw;whh; 
III. Rgh~; re;jpuNgh]; rl;lkWg;G ,af;fj;jpy; gq;Nfw;ftpy;iy 
a. I, II    b. I, III     c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

20. Choose the correct statements about Subhash Chandra Bose 
I. He joined the Indian National Congress in 1920 
II. He became the Mayor of Calcutta in 1930 
III. He founded the Azad Hind Radio in Berlin 
a. I, II    b. I, III     c. II, III 
d. All the above  e. Answer not known 
Rgh~; re;jpuNgh]; gw;wpa rhpahd Fwpg;Gfisj; Njh;T nra;f 
I. ,th; 1920Mk; Mz;L ,e;jpa Njrpa fhq;fpurpy; Nrh;e;jhh; 
II. ,th; 1930,y; fy;fj;jhtpd; Nkauhf gjtpNaw;whh; 
III. Mrhj; `pe;j; thndhypia ngh;ypdpy; epWtpdhh;. 
a. I, II    b. I, III     c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
21. Which one of the following is the richest of vitamin C? 

a. Guava  b. Pine apple    c. Orange   
d. Tomato  e. Answer not known 

 fPo;tUtdtw;Ws; itl;lkpd; 'rp" mjpfk; cs;s czTg;nghUs; vJ?  
 a. nfha;ah  b. md;dhl;rp    c. MuQ;R    

d. jf;fhsp   e. tpil njhpatpy;iy 
 
22. What is Carbon credit? 

a. It is the difference between the carbon emission allowed and actually emitted carbon 
b. It is the loan amount by IMF for reducing pollution 
c. It is the loan given to poor people for buying modern stoves  
d. It is the amount imposed for excess emission of carbon dioxide 
e. Answer not known 
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fhh;gd; fld; vd;gJ ________.  
a. mDkjpf;fg;gl;l fhh;gd; ckpo;Tf;Fk;> cz;ikapy; ckpog;gLk;  

fhh;gDf;Fk; ,ilNaAs;s NtWghL. 
b. khRghl;ilf; Fiwf;Fk; Nehf;fpy; IMF – My; toq;fg;gLk; fld;   
c. Vio kf;fs; etPd mLg;Gfisg; ngWtjw;fhf toq;fg;gLk; fld;  
d. fhh;gd;-il-Mf;i]L mjpfkhf ntspNaw;wg; gLtjw;F tpjpf;fg;gLk;  

njhif  
e. tpil njhpatpy;iy 

 
23. Choose the correct statements about Jawaharlal Nehru 

I. In 1912, he returned to India from England and started practiced as lawyer at the 
Allahabad Highcourt 

II. He attended the congress session in 1912 in Patna 
III. Nehru met Gandhi at Lucknow INC session in 1916 
a. I, II    b. I, III     c. II, III 
d. All the above  e. Answer not known 
[t`h;yhy; NeU gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. 1912Mk; Mz;L ,q;fpyhe;jpypUe;J ,e;jpahtpw;Fj; jpUk;gp myfhghj; 

cah;ePjpkd;wj;jpy; tof;fwpQh; gapw;rpiaj; njhlq;fpdhh;. 
II. ,th; 1912,y; ghl;dhtpy; eilngw;w fhq;fpu]; khehl;by; fye;J nfhz;lhh; 
III. 1916,y; yf;Ndhtpy; eilngw;w fhq;fpu]; khehl;by; fhe;jpiar; re;jpj;jhh; 
a. I, II    b. I, III     c. II, III 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

24. Choose the correct statements about Maulana Abul Kalam Azad 
I. His original name was Muhiyudin Ahmad 
II. He objected to separate electorates for Muslims under the Minto Morley Reforms 
III. He was elected as the President of the All India Khilafat Committee 
a. I, II    b. I, III     c. II, III 
d. All of these  e. Answer not known 
nksyhdh mGy;fyhk; Mrhj; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,tuJ ,aw;ngah; K`pAjPd; m`kJ 
II. kpz;Nlh khh;yp rPh;jpUj;jj;jpd; fPo; K];yPk;fSf;F jdpj;njhFjpfs; toq;fg;gl;lij 

vjph;j;jhh; 
III. mfpy ,e;jpa fpyh/gj; fkpl;bapd; jiytuhfj; Njh;e;njLf;fg;gl;lhh; 
a. I, II    b. I, III     c. II, III 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
25. Aspects of scientific attitude are 

i. Critical observation   ii. Intellectual honesty 
iii. Impartial Thinking  iv. Reflective Thinking 
a. i and ii only   b. iii and iv only 
c. ii, iii and iv only   d. i, ii, iii and iv 
e. Answer not known 
mwptpay; kdg;ghd;ikapd; ghpzhkq;fs; vd;git 
i. $h;e;j cw;WNehf;fy;  ii. mwpthh;e;j Neh;ik 
iii. ghFghlw;w rpe;jid  iv. gpujpgypf;Fk; rpe;jid 
a. i kw;Wk; ii kl;Lk;   b. iii kw;Wk; iv kl;Lk; 
c. ii, iii kw;Wk; iv kl;Lk;  d. i, ii, iii kw;Wk; iv 
e. tpil njhpatpy;iy 
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26. The Indian Parliament adopted the Scientific policy resolution in the year 
a. 1960 b. 1959 c. 1958  d. 1957 e. Answer not known 
,e;jpa ghuhSkd;wj;jpy; mwptpay; nfhs;if jPh;khdk; ve;j Mz;L Vw;Wf; nfhs;sg;gl;lJ? 
a. 1960 b. 1959 c. 1958  d. 1957 e. tpil njhpatpy;iy 
 

27. Choose the correct statements about Maulana Abulkalam Azad  
I. In 1923, he became the youngest president of the Indian National Congress at the 

age of 35 
II. He served as the president of the Unity Conference held at Delhi  
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
nksyhdh mGy;fyhk; Mrhj; gw;wpa rhpahd $w;Wfisj; Njh;f 
I. ,th; 35 tajpy; ,e;jpa Njrpa fhq;fpurpy; kpf ,s taJ jiytuhf 

Njh;e;njLf;fg;gl;lhh;. 
II. nly;ypapy; eilngw;w xw;Wik khehl;bd; jiytuhf ,Ue;jhh;. 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

28. Which of the following book was written by Maulana Abul Kalam Azad? 
a. India wins freedom  b. Gubher-e-khatir   c. Tazkirah 
d. All the above   e. Answer not known 
gpd;tUtdtw;Ws; ve;j Gj;jfk; nksyhdh mGy;fyhk; Mrhj; vOjpaJ? 
a. ,e;jpah tpd;]; /g;hPlk;  b. FNgh;-,-fhjph;   c. j];fpuh 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

29. Open mindedness is a trait of 
a. Discovery   b. Concept learning  c. Scientific perception  
d. Scientific attitude e. Answer not known 
jpwe;j kdg;ghd;ik vd;w gz;G __________ MFk;. 
a. fz;Lgpbg;G   b. fUj;J fw;wy;  c. mwptpay; Gyd;fhl;rp 
d. mwptpay; kdg;ghd;ik  e. tpil njhpatpy;iy 

 
30. How many pairs are correctly matched? 

I. 2023 Global Investors Meet - Tamil Nadu 
II. Saksham Mission – related to child labour 
III. Tamil Nadu village Secretaries – Help to implement schemes in rural areas 
IV. Seerthirutha Siragugal – Prison department 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. 2023 cyf KjyPl;lhsh;fs; khehL - jkpo;ehL 
II. rhf;~k; jpl;lk; - Foe;ij njhopyhsh;fs; njhlh;ghdJ 
III. jkpo;ehL fpuhk nrayhsh;fs; - fpuhkg;gFjpfspy; jpl;lq;fis eilKiwg;gLj;j 

cjTtjw;F 
IV. rPh;j;jpUj;j rpwFfs; - rpiwj;Jiw 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

31. Choose the correct statements about Maulana Abul Kalam Azad 
I. He was elected to Loksabha in 1952 and 1957 
II. His brithday, 11 November is celebrated as National Education Day 
III. In 1991 he was posthumously conferred the Bharat Ratna 
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a. I, II    b. I, III    c. II, III 
d. All the above  e. Answer not known 
nksyhdh mGy;fyhk; Mrhj; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. 1952 kw;Wk; 1957 Mfpa Mz;Lfspy; kf;fsitf;F Njh;e;njLf;fg;gl;lhh;. 
II. ,th; gpwe;jehshd etk;gh; 11 md;W Njrpa fy;tpjpdk; nfhz;lhlg;gLfpd;wJ. 
III. ,tuJ ,wg;gpw;Fg;gpd; 1991Mk; Mz;L ghuj uj;dh tpUJ toq;fg;gl;lJ 
a. I, II    b. I, III    c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

32. __________ is poverty of poverty 
a. being hungry without food to eat 
b. Lack of wealth to buy food items 
c. To neglect hospitality 
d. Being without food, clothing and shelter 
e. Answer not known 
tWikAs; tWik vJ vd;W jpUts;Sth; $Wfpwhh;?  
a. cz;gjw;F czT ,y;yhky; grpNahbUg;gJ  
b. czTg;nghUl;fis thq;Ftjw;F nry;tk; ,y;yhky; ,Ug;gJ  
c. tpUe;jpdiu cgrhpf;fj; jtph;tJ  
d. czT> cil> ciwtplk; ,y;yhky; ,Ug;gJ  
e. tpil njhpatpy;iy 
 

33. The aim of the Kalaigarin Anaithu Grama Orunginaintha Velan Valarchi Thittam is 
a. Increasing cultivable area b. Augmenting water resources 
c. Increasing productivity  d. All of these 
e. Answer not known 
fiyQhpd; midj;J fpuhk xUq;fpize;j Ntshz; tsh;r;rp jpl;lj;jpd; Nehf;fkhdJ 
a. rhFgb gug;gpid mjpfhpj;jy; b. ePh; Mjhuq;fis ngUf;Fjy; 
c. cw;gj;jpia ngUf;Fjy;  d. ,it midj;Jk; 
e. tpil njhpatpy;iy 
 

34. Choose the correctly matched pairs? 
I. Thiruvalluvar Award 2022 – M. Meenatchi Sundram 
II. Sahitya Akademi Award 2021 – Ambai 
III. Avvaiyar Award 2022 – Girija Kumar Babu 
IV. 25th Pudhumaipithan Memorial Award – Stalin Rajangam 
a. I, II, III   b. I, III, IV    c. II, IV 
d. All of these  e. Answer not known 
rhpahd ,iziaj; Njh;f 
I. jpUts;Sth; tpUJ 2022 – K. kPdhl;rp Re;juk; 
II. rhfpj;a mfhnjkp tpUJ 2021 – mk;ig 
III. mt;itahh; tpUJ 2022 – fphp[h Fkhh; ghG 
IV. 25tJ GJikgpj;jd; epidT tpUJ - ];lhypd; ,uh[hq;fk; 
a. I, II, III   b. I, III, IV    c. II, IV 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

35. The _______ whose word is never vain, 
The _______ shall to the earth proclaim 

 a. might of men, secret word b. Renounced, denounced  
c. both states, greatness  d. strength, life   
e. Answer not known 
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_________ khe;jh; ngUik epyj;J 
_________ fhl;b tpLk; 
Nfhbl;l ,lq;fis epug;Gf 
a. epiwnkhop> kiwnkhop  b. Jwe;jhh;> ,we;jhh; 
c. ,Uik> ngUik   d. cud;> tud; 
e. tpil njhpatpy;iy 

 
36. In a mixture of 60 litres, the ratio of milk and water is 2 : 1. If this ratio is to be 1 : 2, then 

what is the quantity of water to be further added? 
a. 20 l  b. 30 l   c. 50 l  d. 60 l  e. Answer not known 
60 ypl;lu; fyitapy;> ghy; kw;Wk; jz;zPupd; tpfpjk; 2:1 ,e;j tpfpjk; 1:2 Mf ,Uf;f 
Ntz;Lnkdpy;> $Ljyhf Nru;f;f Ntz;ba jz;zPupd; msT ahJ? 
a. 20 l  b. 30 l   c. 50 l  d. 60 l  e. tpil njupatpy;iy 

 
37. If the consecutive English alphabets A to N are represented respectively by the integers 

from 14 to 1 and alphabet 0 is represented by zero and the alphabets P to Z are represented 
from -1 to —11 then find the sum of integers representing SUCCESS? 
a. 16 b. 14  c. 2  d. 18  e. Answer not known 

A Kjy; N tiuapyhd Mq;fpy vOj;Jf;fs; KiwNa 14 Kjy; 1 tiu Fwpf;fg;gLfpwJ. 
Mq;fpy vOj;J O vd;gJ G+[;aj;jpy; Fwpf;fg;gLfpwJ NkYk; P Kjy; Z tiuapyhd 
Mq;fpy vOj;Jf;fs; -1 Kjy; -11 tiuapyhd vz;fshy; Fwpf;fg;gl;lhy; SUCCESS vd;w 
Mq;fpy thh;j;ijapy; cs;s vOj;Jf;fisf; Fwpf;Fk; vz;fspd; $Ljy; fhz;f?  
a. 16 b. 14  c. 2  d. 18  e. tpil njhpatpy;iy 

 
38. Ram can do a work in 15 days. Rahim is 50% more efficient than Ram. The number of days, 

Rahim alone will take to do the same piece of work is  
a. 7 ½   b. 10   c. 12  d.14              e. Answer not known 

uhk; vd;gtu; xU Ntiyia 15 ehl;fspy; Kbf;fpwhu;. uh P̀k; vd;gtu; uhk;-ia tpl 50% 
mjpfk; jpwDilath; vdpy;> u`Pk; kl;Lk; jdpahf mNj Ntiyia vj;jid ehl;fspy; 
Kbg;ghu;? 
a. 7 ½  b. 10   c. 12  d. 14   e. tpil njupatpy;iy 

 

39. The amount of rainfall in a particular season for 6 days are given as 17.8 cm, 19.2 cm, 16.3 
cm, 12.5 cm, 12.8 cm and 11.4 cm. Find its average.  
a. 13 b. 15  c. 17  d. 19   e. Answer not known 
xU Fwpg;gpl;l gUtj;jpy; 6 ehl;fspy; nga;Ak; kioapd; msthdJ 17.8 nr.kP> 19.2 nr.kP> 
16.3 nr.kP> 12.5 nr.kP> 12.8 nr.kP> 11.4 nr.kP vdpy;. ,e;j jutpd; ruhrup fhz;f 
a. 13 b. 15  c. 17  d. 19  e. tpil njupatpy;iy 

 

40. The difference between the interest payable on a sum invested for three years at 20% 
compound interest per annum compounded annually and 20% simple interest per annum 

for the same period is ₹448. What is the value of the sum invested? 

a. ₹ 3,750  b. ₹ 4,000  c. ₹ 3,500 d. ₹ 3,000 e. Answer not known 
Mz;Lf;nfhUKiw tl;bf; fzf;fplg;gLk; Kiwapy; xU njhif 20% $l;L tl;b 
tpfpjj;jpy; 3 tUlj;jpw;f;F KjyPL nra;jjpy; fpilj;j tl;bj;njhiff;Fk; mNj njhif 
20% jdp tl;b tpfpjj;jpy; mNj fhyj;jpw;f;F KjyPL nra;jjpy; fpilj;j 
jdptl;bj;njhiff;Fk; cs;s tpj;jpahrk; &. 448 KjyPL nra;j njhifia fhz;f. 
a. ₹ 3,750  b. ₹ 4,000  c. ₹ 3,500 d. ₹ 3,000 e. tpil njhpatpy;iy 
 

41. Which is the best among all virtues? 
a. spotless mind    b. charity for the poor   c. being virtuous   
d. possession of love  e. Answer not known 
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midj;J mwq;fspYk; rpwe;jJ vJ? 
a. cs;sj;jpy; Fw;wk; ,y;yhJ ,Uj;jy;  b. twpNahh;f;F <jy; 
c. mwj;NjhL epw;wy;     d. md;Gilik 
e. tpil njhpatpy;iy 
 

42. How many pairs are correctly matched? 
I. Sela Tunnel – Arunachal Pradesh 
II. Ramappa Temple – Telangana’s first UNESCO World Heritage Site 
III. T-Setu – Odisha’s Longest Bridge 
IV. Renukaji Dam Project – Himachal Pradesh 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. nryh Ruq;fg;ghij – mUzhr;ry gpuNjrk; 
II. uhkg;gh Nfhtpy; - njYq;fhdhtpd; Kjy; And];Nfh cyf ghuk;ghpa ,lk; 
III. T- NrJ – xb~htpd; kpf ePskhd ghyk; 
IV. NuZfh[p mizjpl;lk; - ,khr;ryg;gpuNjrk; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

43. Choose the correctly matched pairs? 
I. February 21 – International Mother Language Day 
II. January 24 – National Girl Child Day 
III. November 20 – World Toilet Day 
IV. December 24 – National Consumers Day 
a. I, II, III   b. II, III, IV   c. I, II, IV 
d. All the abvoe  e. Answer not known 
rhpahd ,izfis Njh;f 
I. gpg;uthp 21 - rh;tNjr jha;nkhop jpdk; 
II. [dthp 24 - Njrpa ngz; Foe;ijfs; jpdk; 
III. etk;gh; 20 - cyf fopg;giw jpdk; 
IV. brk;gh; 24 - Njrpa Efh;Nthh;fs; jpdk; 
a. I, II, III   b. II, III, IV   c. I, II, IV 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

44. Though every --------part complete, the body's fitly framed; 
What good, when soul ________ of love devoid, lies halt and maimed 
a. outward, within   b. bone, love    c. love friendship  
d. love what else   e. Answer not known 
_________ ngy;yhk; vtd;nra;Ak; ahf;if 
________ md;gp yth;f;F 

a. Gwj;JWg;> mfj;Jwg;G b. vd;G> md;G  c. md;G> ed;G   
d. md;Ngh> vd;Ngh  e. tpil njhpatpy;iy 
 

45. Which among the following Kural is an example of the following lines from Purananooru? 
“This world exists because of men who, even if they were 
To get the nectar of Indiran, will not drink it alone” 
a. Who shares his meal with other, while all guilt he shuns, 

His virtuous line unbroken though the ages runs 
b. Who shares domestic life, by household virtues graced, 

Shall, mid the Gods, in heaven who dwell, be placed 
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c. The men of household virtue, firm in way of good, sustain 
The other orders three that rule professed maintain 

d. None of these  
e. Answer not known 

 “cz;lhyk;k ,t;Tyfk;  
,e;jpuh; mkpopjk; ,iatjhapDk; 
,dpnjdj; jkpahh; cz;lYk; ,yNu”  
vd;w GwehD}w;W ghlYf;F ,izahf cs;s Fws; vJ? 
a. gopaQ;rpg; ghj;J}z; cilj;jhapd; tho;f;if 

topnaQ;ry; vQ;Qhd;Wk; ,y; 
b. itaj;Js; tho;thq;F tho;gtd; thd;ciwAk;  

nja;tj;Js; itf;fg; gLk; 
c. ,y;tho;thd; vd;ghd; ,ay;Tila %th;f;Fk; 

ey;yhw;wpd; epd;w Jiz 
d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 
 

46. Choose the correct statements 
I. In November 2015, the National Rural Livelihoods Mission was renamed as 

Deenadayal Antayodaya Yojana 
II. In 2018, Rashtriya Gram Swaraj Abhiyan Scheme was launched to strengthen 

Panchayati Raj Institutions and helping them to achieve Sustainable Development 
Goals 

III. In 2015, Pradhan Mantri Ujjwala Yojana was launched to distribute 50 million LPG 
connections to women of Below Poverty Line (BPL) families 

a. I, II    b. I, III    c. II, III 
d. All of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;f 
I. 2015 etk;ghpy; Njrpa fpuhkg;Gw tho;thjhu jpl;lk; jPdjahs; me;jNahjah jpl;lk; 

vd ngah; khw;wk; nra;ag;gl;lJ. 
II. 2018Mk; Mz;L> gQ;rhaj;J uh[; epWtdq;fis tYg;gLj;jTk; mit epiyahd 

tsh;r;rp ,yf;Ffis mila cjTtjw;fhfTk; uh~;l;hpa fpuhk ];tuh[; mgpahd; 
jpl;lk; njhlq;fg;gl;lJ. 

III. 2015,y; gpujk ke;jphpapd; c[;[thyh jpl;lk; 50 kpy;ypad; LPG ,izg;Gfis 
tWikf;Nfhl;bw;F fPo; cs;s FLk;gq;fspy; cs;s ngz;fSf;F tpepNahfpf;f 
njhlq;fg;gl;lJ. 

a. I, II    b. I, III    c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

47. Arrange the following schemes in Chronological order 
I. National TB Elimination Programme 
II. Pradhan Mantri Gramin Awas Yojana 
III. National Literacy Mission Programme 
IV. National Rural Health Mission 
a. I, II, III, IV  b. II, I, III, IV    c. III, II, I, IV 
d. III, I, IV, II  e. Answer not known 
gpd;tUk; jpl;lq;fis fhythpirg;gLj;Jf 
I. Njrpa vYk;GUf;fp Neha; xopg;G jpl;lk; 
II. gpujk ke;jphp fpuhkpd; Mth]; jpl;lk; 
III. Njrpa vOj;jwpT ,af;fj;jpl;lk; 
IV. Njrpa Cuf Rfhjhuj; jpl;lk; 
a. I, II, III, IV  b. II, I, III, IV    c. III, II, I, IV 
d. III, I, IV, II  e. tpil njhpatpy;iy 
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48. Find out the opt Kural for the following 
Not to adopt the mean expedient of saying "I have nothing," but to give, is the 
characteristic of the mad of noble birth. 
a. The suppliants' cry for aid yields scant delight, 

Until you see his face with grateful gladness bright. 
b. 'Mid devotees they're great who hunger's pangs sustain, 

Who hunger's pangs relieve a higher merit gain. 
c. Let man relieve the wasting hunger men endure; 

For treasure gained thus finds he treasure-house secure. 
d. I've nought' is ne'er the high-born man's reply; 

He gives to those who raise themselves that cry. 
e. Answer not known 
gpd;tUk; nghUSf;F nghUj;jkhd Fwis Njh;T nra;f 
,y;iy vd;w Jaiu vLj;Jiuf;Fk; Kd;Ng nfhLf;Fq;Fzk; Fbg;gpwe;jtdplk; cz;L 
a. ,d;dhJ ,uf;fg; gLjy; ,ue;jth; 

,d;Kfq; fhZk; msT 

b. Mw;Wthh; Mw;wy; grpMw;wy; mg;grpia 
khw;Wthh; Mw;wypd; gpd; 

c. mw;whh; mopgrp jPh;j;jy; m/njhUtd; 
ngw;whd; nghUs;itg; Gop 

d. ,yd;vd;Dk; vt;tk; ciuahik <jy; 
Fyd;cilahd; fz;Nz cs 

e. tpil njhpatpy;iy 

 
49. Which among following Kurals is an example for Tirless effort? 

a. 'Tis energy gives men o'er that they own a true control; 
They nothing own who own not energy of soul. 

b. The wealth of mind man owns a real worth imparts, 
Material wealth man owns endures not, utterly departs. 

c. Whate'er you ponder, let your aim be loftly still, 
Fate cannot hinder always, thwart you as it will. 

d. The men of lofty mind quail not in ruin's fateful hour, 
The elephant retains his dignity mind arrows' deadly shower. 

e. Answer not known 
gpd;tUk; Fwl;ghf;fspy; jsuhj Cf;fj;jpw;F vLj;Jf;fhl;L vJ? 
a. cilah; vdg;gLtJ Cf;fk; m/jpy;yhh; 

cilaJ cilaNuh kw;W 
b. cs;sk; cilik cilik nghUSilik 

epy;yhJ ePq;fp tpLk; 
c. cs;St njy;yhk; cah;Ts;sy; kw;wJ 

js;spDe; js;shik ePh;j;J 
d. rpijtplj;J Xy;fhh; cuNthh; Gijak;gpw; 

gl;Lg;gh ^d;Wq; fspW 
e. tpil njhpatpy;iy 

 
50. Which of the following Bank provides the Financial support for affordable green housing 

for low income women borrowers in India? 
a. World Bank   b. Asian Development Bank  c. AIIB  
d. New Development Bank e. Answer not known 
,e;jpahtpy; Fiwe;j tUkhdk; nfhz;l fld; thq;Fk; ngz;fSf;F kypT tpiyapy; gRik 
tPLfSf;fhd epjp Mjuit gpd;tUk; ve;j tq;fp toq;FfpwJ? 
a. cyf tq;fp   b. Mrpa tsh;r;rp tq;fp   c. AIIB  
d. Gjpa tsh;r;rp tq;fp  e. tpil njhpatpy;iy 
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51. Match the following 
Festivals   States 
A. Pulikali Festival  1. Sikkim 
B. Bonalu Festival  2. Kerala 
C. Lavender Festival 3. Telangana 
D. Losoong Festival  4. Jammu and Kashmir 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 2 4 1 
d. 2 4 3 1 
e. Answer not known 
nghUj;Jf 
tpohf;fs;    khepyq;fs; 
A. Gypf;fhyp tpoh   1. rpf;fpk; 

B. nghdhY tpoh   2. Nfush 
C. yhtz;lh; tpoh   3. njYq;fhdh 
D. Y}#q; tpoh   4. [k;K fh~;kPh; 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 2 4 1 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
 

52. ‘Veracity’ means 
a. speaking truthful words  b. speaking words not harming others 
c. speaking boldly   d. speaking sweetly 
e. Answer not known 
tha;ik vdg;gLtJ _____ 
a. cz;ikia NgRjy;  b. jPq;Fjuhj nrhw;fisg; NgRjy; 
c. ijhpakhf NgRjy;  d. ,dpikahf NgRjy; 
e. tpil njhpatpy;iy 

 
53. Find out the opt Kural for the following proverb  

Aatravun katrar arivudaiyar agdhudaiyar 
Natrisaiyun selladha nadillai 
a. The man who store of learning gains, 

In one, through seven worlds, bliss attains. 
b. The learned make each land their own, in every city find a home; 

Who, till they die; learn nought, along what weary ways they roam!. 
c. Their joy is joy of all the world, they see; thus more 

The learners learn to love their cherished lore. 
d. Learning is excellence of wealth that none destroy; 

To man nought else affords reality of joy. 
e. Answer not known 
Mw;wTq; fw;whh; mwpTilahh; m/Jilahh; 
ehw;wpirAQ; nry;yhj ehby;iy  
vd;w gonkhop ghlYf;F nghUj;jkhd Fws; vJ? 
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a. xUikf;fz; jhd;fw;w fy;tp xUtw;F 
vOikAk; Vkhg; Gilj;J 

b. ahjhDk; ehlhkhy; Cuhkhy; vd;ndhUtd; 
rhe;JizAq; fy;yhj thW 

c. jhkpd; GWtJ cyfpd; Gwf;fz;L 
fhKWth; fw;wwpe; jhh; 

d. Nfby; tpOr;nry;tk; fy;tp nahUtw;F 
khly;y kw;iw ait 

e. tpil njhpatpy;iy 
 
54. Choose the correctly matched pair 

Defence Exercise   Countries Participated 
I. Vajra Prahar 2022  -  India and USA 
II. Pitch Black 2022 -  South Africa and India 
III. Sampriti – X  -  India and Bangladesh 
IV. VARUNA 2022 -  India and France 
a. I, II    b. III, IV   c. I, III, IV 
d. All the above  e. Answer not known 
rhpahd ,izfis Njh;f 
,uhZtg; gapw;rp   gq;Nfw;w ehLfs; 
I. t[;u gpufhh; 2022 - ,e;jpah kw;Wk; mnkhpf;fh 
II. gpl;r; gpshf; 2022 - njd;dhg;gphpf;fh kw;Wk; ,e;jpah 
III. rk;gphpjp X   - ,e;jpah kw;Wk; tq;fNjrk; 
IV. tUzh 2022  -  ,e;jpah kw;Wk; gpuhd;]; 
a. I, II    b. III, IV   c. I, III, IV 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

55. How many pairs are correctly matched regarding Nobel Prize 2022? 
Nobel Prize 2022  Field 
I. Physics  - Quantum information science 
II. Chemistry  - Development of click chemistry and Bioorthogonal  

chemistry 
III. Medicine   - Human Evolution and the genomes of extinct human  

relatives 
IV. Economics  - Research on Banks and Financial Crises 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
Nehgy; ghpR 2022 njhlh;ghd ,izfspy; vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
Nehgy; ghpR 2022  Jiw 
I. ,aw;gpay;   - Fthz;lk; jfty; mwptpay; 
II. Ntjpapay;   - caph; ,af;ftpaypy; %yf;$Wfs; kw;Wk; gNah  

Mh;j;Njhfdy; Ntjpapay; Nkk;ghL 
 III. kUj;Jtk;  - kdpjdpd; ghpzhkk; kw;Wk; mope;JNghd kdpjdpd;  

kugZf;fs; njhlh;ghdit 
 IV. nghUshjhuk;  - tq;fpfs; kw;Wk; epjp neUf;fb Muha;r;rp 
 a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
 d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
  
56. According to Valluvar an act is to be performed after considering 

a. Money, means, time  b. Means, Time, Hinderance 
c. Means, Time, Profit  d. Accomplishment, Hindrance, Profit 
e. Answer not known 
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xU nraiyj; njhlq;Fk;NghJ vtw;iw vz;zpg; ghh;j;J nra;a Ntz;Lk; vd ts;Sth; 
$Wfpwhh;? 
a. nghUs;> fUtp> fhyk;  b. fUtp> fhyk;> ,ila+W 
c. fUtp> fhyk;> gad;  d. KbT> ,ila+W> gad; 
e. tpil njhpatpy;iy 

 
57. “A crow will conquer owl in broad daylight; 

The king that foes would crush, needs fitting time to fight’ 
What is the main idea of this Thirukural? 
a. Importance of time  b. Victory of crow  c. Owl’s failure 
d. Victory of kings   e. Answer not known 
“gfy; nty;Yk; $ifiaf; fhf;if ,fy;” nty;Yk; 
Nte;jh;f;F Ntz;Lk; nghOJ” – 
,f;Fws; czh;j;Jk; fUj;J ahJ? 
a. fhyj;jpd; Kf;fpaj;Jtk;    b. fhf;ifapd; ntw;wp c. $ifapd; Njhy;tp  
d. Nte;jh;fspd; ntw;wp  e. tpil njhpatpy;iy 

 
58. What does the word ‘Irupunal” mean in this Thirukkural? 

“Irupunalum Vaaindha malaiyum Varupunalum 
Vallaranum Naatirkku Uruppu” 
(The constituents of a kingdom are the two waters well situated hills 
 and an undestructible fort.) 
a. Aatru neer, Kinatru neer (River water, Well water) 
b. Aatru neer, Kulathu neer (River water, Pond water) 
c.  Mazhai neer, Kinatru neer (Rain water, Well water) 
d. Kadal neer, Mazhai neer (Sea water, Rain water) 
e. Answer not known 
“,UGdYk; tha;e;j kiyAk; tUGdYk; 
ty;yuZk; ehl;bw;F cWg;G” 
-,e;j jpUf;Fwspy;> ‘,UGdy;’ vd;gJ ahJ? 
a. Mw;W ePh;> fpzw;W ePh; b. Mw;W ePh;> Fsj;J ePh;  c. kio ePh;> fpzw;WePh;   
d. fly; ePh;> kio ePh; e. tpil njhpatpy;iy 
 

59. Find the harbour 
1. It is known as Colchi in Periplus 
2. The harbour of the Paandiyaas 
3. The trade that took place here, is mentioned in Maduraikkanchi 
a. Thondi   b. Musiri    c. Korkai   
d. Kaaveripoompattinam e. Answer not known   
JiwKfj;ijf; fz;Lgpbf;fTk;. 
1. nghpGSrpy; nfhy;fp (colchi) vd;W $wg;gLfpd;wJ 
2. ghz;bahpd; JiwKfk; 
3. kJiuf;fhQ;rpapy; ,q;F eilngw;w thzpfk; Fwpg;gplg;gl;Ls;sJ 
a. njhz;b   b. Krpwp    c. nfhw;if  
d. fhtphpg;g+k;gl;bdk;  e. tpilnjhpatpy;iy 

 
60. Choose the correctly matched pairs? 

Index (2022)      India’s Rank 
I. World Happiness Report   - 136th Rank 
II. Global Hunger Index   - 108th Rank 
III. Global Gender Gap Report   - 135th Rank 
IV. Global Terrorism Index   - 12th Rank 
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a. I, II, III   b. I, III, IV   c. II, III 
d. All the above  e. Answer not know 
rhpahd ,izfis Njh;f 

 FwpaPLfs; (2022)     ,e;jpahtpd; juthpir 
 I. cyf kfpo;r;rpf; FwpaPL    - 136tJ  
 II. cyf gl;bdpf; FwpaPL    - 108tJ  
 III. cyf ghypd ,ilntspf; FwpaPL  - 135tJ  
 IV. cyf jPtputhjf; FwpaPL   - 12tJ 

a. I, II, III   b. I, III, IV   c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 

61. 25th Chief Election Commissioner of India is 
a. Sunil Arora  b. Sushil Chandra  c. Rajiv Gowba 
d. Rajiv Kumar  e. Answer not known 
,e;jpahtpd; 25tJ jiyik Njh;jy; Mizah; _________ 
a. Rdpy; mNuhuh  b. R~py; re;jpuh  c. ,uh[pt; nfsgh 
d. uh[pt; Fkhh;  e. tpil njhpatpy;iy 
 

62. “Who said, “Veerudai Semmozhi Tamizhmozhi Ulagam 
  Veroondriya Naal Muthal Uyarmozhi”? 

a. Devaneyappavanar   b. Paavalureru  Perunjchiththiranaar 
c. Bharadhampaadiya Perundhevanaar d. Kumattoor Kannanaar 
e. Answer not known 
“tPWil nrk;nkhop jkpo;nkhop cyfk;  
Nt&d;wpa ehs; Kjy; cah;nkhop”  
vd;W jkpopd; ngUikia giwrhw;Wgth; ahh;? 
a. NjtNeag;ghthzh;   b. ghtyNuW ngUQ;rpj;jpudhh; 
c. ghujk;ghba ngUe;Njtdhh;  d. Fkl;^h; fz;zzhh;  
e. tpil njhpatpy;iy 

 

63. Which of the following books are written by a Kanimethaviyar? 
a. Thinaimaalai Noottraimbadhu  b. Yelaathi   c. Thirikadugam  
d. a and c     e. Answer not known 
fPo;f;fz;l ve;j E}y; / E}y;fSf;F fzpNkjhtpahh; Mrphpauhf jpfo;fpwhh;? 
a. jpizkhiy E}w;iwk;gJ  b. Vyhjp   c. jphpfLfk; 
d. a kw;Wk; c    e. tpilnjhpatpy;iy  

 

64. Choose the correctly matched pairs  
Books        Authors 
I. Rusty Skies and Golden Winds   - Sannidhya Sharma 
II. Winning formula for success   - Viswanathan Anand 
III. Listen to your Heart     - Ruskin Bond 
IV. Leaders Politician, Citizens   - Rasheed Kidwai 
a. I, II    b. III, IV   c. I, III, IV 
d. All the above  e. Answer not known 
rhpahd ,izfis Njh;f 
Gj;jfq;fs;       Mrphpah;fs; 
I. u];b ];if]; md;l; Nfhy;ld; tpd;l;];  - rd;dpjpah rh;kh 
II. tpd;dpq; /ghh;Kyh ghh; rf;r];   - tp];tehjd; Mde;j; 
III. yprd; L Ath; `hh;l;    - u];fpd; ghd;l; 
IV. yPlh;]; nghypbrpad;> rpl;brd;];   - u~PJ fpj;it 
a. I, II    b. III, IV   c. I, III, IV 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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65. On the occasion of 12th National voters Day 2021 the Election Commission gave the best 
state Award to _______state chief electoral officer. 
a. Tamil Nadu  b. Uttarpradesh   c. Andhrapradesh 
d. New Delhi   e. Answer not known 
2021k; Mz;by; 12tJ Njjpa thf;fhsh; jpdj;ijnahl;b ________ khepyj; jiyikj; 
Njh;jy; mjpfhhpf;Fr; rpwe;j khepy tpUjpidj; Njh;jy; fkp~d; toq;fpaJ 
a. jkpo;ehL    b. cj;jpugpuNjrk;   c. Me;jpugpuNjrk; 
d. GJ jpy;yp   e. tpil njhpatpy;iy 

 
66. Chennai becomes the ___ Indian city with metro railway. 

a. first   b. fifth     c. sixth   
d. second  e. Answer not known 
,e;jpa mstpy;> nrd;id efuk;> nkl;Nuh ,uapy; Nrit nfhz;l _____ efukhFk; 
a. KjyhtJ  b. Ie;jhtJ    c. MwhtJ   
d. ,uz;lhtJ e. tpil njhpatpy;iy 

 
67. Consider the following 

1. Kainnilai describes disciplines of Ainthinai 
2. Kai also means discipline 
a. 1 is correct and 2 is also correct  b. 1 is wrong but 2 is correct 
c. Both arguments are correct  d. Both arguments are wrong 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
1. Ie;jpiz xOf;fk; gw;wp ife;epiy Fwpg;gpLfpwJ  
2. if vd;why; xOf;fk; vdg;nghUs;gLk;  
a. 1 rhp> $w;W 2 rhp    b. 1 jtW> $w;W 2 rhp 
c. ,uz;L $w;WfSk; rhp    d. ,uz;L fw;WfSk; jtW  
e. tpilnjhpatpy;iy 

 
68. Choose the wrong answer 

I. Because of his sister Thilagaviyaar, Thirunaavukkarasar converted from Jainism to 
Saivism. 

II. Mahendravarman II was converted from Jainism to Saivism. 
 a. I alone    b. II alone   c. I, II   

d. none of these   e. Answer not known 
jtwhd $w;iwj; Njh;f 
I. jpUehTf;furh; jdJ jkf;if jpyftpahuhy; rkzj;jpypUe;J irt rkaj;jpw;F 

khwpdhh; 
II. ,uz;lhk; kNfe;jputh;kid rkzj;jpypUe;J irtj;jpw;F khw;wpdhh;  
a. I kl;Lk;     b. II kl;Lk;    c. I, II     
d. Nkw;fz;l vJTkpy;iy   e. tpilnjhpatpy;iy 

 
69. Pandit Deendayal Upadhyay National Welfare fund assisting to whom? 

a. Outstanding Research Scholars   b. Outstanding Writers 
c. Outstanding Sports Persons   d. Outstanding Farmers 
e. Answer not known 
gz;bl; jPd;jahs; cghj;jpaha Njrpa ey cjtpj;njhif ahUf;F toq;fg;gLfpwJ?  
a. rpwe;J tpsq;Fk; Muha;r;rpahsh;fSf;F  b. rpwe;J tpsq;Fk; vOj;jhsh;fSf;F  
c. rpwe;J tpsq;Fk; tpisahl;L tPuh;fSf;F  d. rpwe;J tpsq;Fk; tptrhapfSf;F  
e. tpil njhpatpy;iy 
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70. The Statute of unity was inaugurated on  
a. 28, October 2018  b. 29, October 2018,  c. 30, October 2018    
d. 31, October 2018  e. Answer not known 
"xw;Wikf;fhd rpiy' jpwf;fg;gl;l ehs;  
a. 28 mf;Nlhgh; 2018 b. 29> mf;Nlhgh; 2018  c. 30> mf;Nlgh; 2019    
d. 31 mf;Nlhgh; 2018 e. tpil njhpatpy;iy 

 
71. Choose the incorrect pair. 

a. Nammaazhwar  - Thiruvirutham 
b. Periyaazhwar  - Thiruppallandu 
c. Kulasekaraazhwar - Perumal Thirumozhi 

 d. None of these 
e. Answer not known 
jtwhd ,izia Njh;e;njLf. 
a. ek;kho;thh;   - jpUtpUj;jk; 
b. nghpaho;thh;  - jpUg;gy;yhz;L 
c. FyNrfu Mo;thh;  - ngUkhs; jpUnkhop 
d. VJkpy;iy 
e. tpilnjhpatpy;iy 

 
72. Which literary work states that it is wrong to sell Poompuhar’s products for a higher price? 

a. Pattinappalai  b. Silappadhikaaram  c. Manimegalai  
d. Maduraikkanchi  e. Answer not known 
G+k;Gfhu; efuj;J nghUl;fis $Ljyhd tpiyf;F tpw;gJ jtwhd nray; vd;W ve;E}y; 
$WfpwJ? 
a. gl;bdg;ghiy  b. rpyg;gjpfhuk;   c. kzpNkfiy  
d. kJiuf;fhQ;rp  e. tpilnjhpatpy;iy 

 
73. Identify the TICEL park 

a. Rubber park  b. Textile park  c. Food park  
d. Bio park   e. Answer not known 
TICEL – d; gFjp  
a. ,ug;gh; G+q;fh   b. [Tsp G+q;fh  c. czT G+q;fh    
d. caphp G+q;fh  e. tpil njhpatpy;iy 

 
74. In which language the “National Pledge” was initiated? 

a. Sanskrit  b. English   c. Telugu   
d. Bengali    e. Answer not known 
Njrpa cWjpnkhop Kjd;Kjypy; ve;j nkhopapy; cUthf;fg;gl;lJ? 
a. rk];fpUjk;  b. Mq;fpyk;   c. njYq;F   
d. ngq;fhyp  e. tpil njhpatpy;iy 

 
75. Narasimha Varman I court was adorned by ____ 

a. Paaravi   b. Dandin   c. Rudraachariyar  
d. Perunthevanar  e. Answer not known 
Kjyhk; eurpk;ktu;kdpd; mitia myq;fwpj;jtu; 
a. ghutp   b. jz;bd;    c. Uj;uhr;rhupahu;   
d. ngUe;Njtdhu;  e. tpilnjhpatpy;iy 
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76. A can do a piece of work in 7 days of 9 hours each and B can do it in 6 days of 7 hours each. 

How long will they take to do it, working together 
2

8
5

 hours a day  

a. 4 days    b. 5 days     c. 3 days  
d. 4 ½ days    e. Answer not known 
A, xU Ntiyia 9 kzp Neuk; nfhz;l 7 Ntiy ehl;fspYk;> B mNj Ntiyia 7 kzp 
Neuk; nfhz;l 6 Ntiy ehl;fspYk; Kbf;ff;$Lk;. mtu;fs; ,UtUk; Nru;e;J xU ehisf;F 

2
8

5
 kzp Neuk; Ntiy nra;jhy;> mt;Ntiyia Kbf;f vt;tsT fhyk; vLg;ghu;fs;? 

a. 4 ehl;fs;   b. 5 ehl;fs;    c. 3 ehl;fs; 
d. 4 ½ ehl;fs;  e. tpil njupatpy;iy 

 
77. The population of town increased 5% annually but is decreased by emigration annually to 

the extent of 1%. The population increase percent in three years is  
a. 20.50%  b.16.76%    c. 12.48%   
d. 10.80%  e. Answer not known 
xU efuj;jpd; kf;fs; njhif Mz;Lf;F 5 rjtpfpjk; cau;fpwJ mNj rkak; 
Fbngau;r;rpapdhy; 1 rjtpfpjk; Mz;Lf;Ff; FiwfpwJ. %d;whz;Lfspy; kf;fs; njhif 
caUk; rjtpfpjkhdJ 
a. 20.50%  b.16.76%    c. 12.48%   
d. 10.80%  e. tpil njupatpy;iy 

 
78. What is the greatest possible volume of a vessel that can be used to measure exactly the 

volume of milk in cans (in full capacity) of 80 litres, 100 litres and 120 litres? 
a. 5 litres  b. 10 litres    c. 20 litres   
d. 40 litres  e. Answer not known 
KOtJkhf epug;gg;gl;Ls;s 80 ypl;lu;> 100 ypl;lu; kw;Wk; 120 ypl;lu; nfhs;ssT cs;s 
fyd;fspy; ghypidr; rupahf msf;ff; $ba ghj;jpuj;jpd; mjpfgl;rf; nfhs;ssT vd;d? 
a. 5 ypl;lu;  b. 10 ypl;lu;     c. 20 ypl;lu; 
d. 40 ypl;lu;  e. tpil njupatpy;iy 

 
79. Find the rate of compound interest at which a principal becomes 1.44 times itself in 2 years. 

a. 12%   b. 20%    c. 25%   
d. 30%   e. Answer not known 
Xu; mryhdJ> $l;Ltl;b Kiwapy; 2 Mz;Lfspy; mijg;Nghd;W 1.44 klq;F MfpwJ vdpy;> 
tl;b tPjj;ijf; fhz;f. 
a. 12%   b. 20%    c. 25%   
d. 30%   e. tpil njupatpy;iy 

 
80. Find the LCM of 3(a - 1), 2(a - 1)2, (a2 - 1) 

a. 3 (a + 1)2 (a + 1)  b. 3 (a - 1)2 (a + 1)            c. 6 (a - 1) (a + 1)  
d. 6 (a - 1)2 (a + 1)  e. Answer not known    
3(a - 1), 2(a - 1)2, (a2 - 1)-d; kPr;rpW nghJ klq;F fhz;f. 
a. 3 (a + 1)2 (a + 1)  b. 3 (a - 1)2 (a + 1)            c. 6 (a - 1) (a + 1)  
d. 6 (a - 1)2 (a + 1)  e. tpil njupatpy;iy 

 

81. The Tamil Brahmi stone carvings found in Maankulam belongs to ______ 
a. Paraanthaga Veeraraajan b. Karikaala Chozhan  c. Narasimha Varman 
d. Nedunchezhian   e. Answer not known 
khq;Fyj;jpy; fz;lwpag;gl;l jkpo; gpuhkp fy;ntl;Lfs; ahUilaJ 
a. guhe;jf tPuuh[d;   b. fupfhy; Nrhod;   c. eurpk;ktu;kd;  
d. neLQ;nropad;   e. tpilnjhpatpy;iy 
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82. C. N. Annadurai launched triangular fight in _____. 
a. 1951 b. 1952 c. 1953  d. 1954 e. Answer not known 
C.N. mz;zhJiu Kk;Kid Nghuhl;lj;ij Jtf;fpa Mz;L _____. 
a. 1951 b. 1952 c. 1953  d. 1954 e. tpil njhpatpy;iy 

 
83. Ganga Vriksharopan Abhiyan is a 

a. National Mission for Clean Ganga b. Mission for pollution free India 
c. Water Resources Management plan d. National Mission for North-East 
e. Answer not known 
fq;fh tphpr;rNuhgd; mgpahd; vd;gJ xU  
a. Njrpa fq;if J}a;ik jpl;lk;   b. khrw;w ,e;jpahit cUthf;Fk; jpl;lk;  
c. ePh; ts Nkyhz;ik jpl;lk;   d. tl fpof;F ,e;jpahtpYs;s Njrpa jpl;lk;  
e. tpil njhpatpy;iy 

 

84. The Ujwal Discom Assurance Yojana is related to  
a. Agricultural debt relief  
b. subsidy to industrial establishments  
c. Govt. of India to take over the debt of power distribution companies    
d. State governments to take over the debt of power distribution companies  
e. Answer not known 
cQ;thy; b];fhk; m];A+ud;]; Nah[dh vd;gJ ,jNdhL njhlh;GilaJ 
a. Ntshz; fld; js;Sgb  
b. njhopy; epWtdq;fSf;fhd khdpak;  
c. kpd; tpdpNahf; epWtdq;fspd; flid kj;jpa muR Vw;Wf;nfhs;Sjy;  
d. kpd; tpdpNahf epWtdq;fspd; flid khepy muRfs; Vw;Wf;nfhs;Sjy;  
e. tpil njhpatpy;iy 

 

85. Creamy layer concept was first introduced in the case of 
a. Lakshmikant Sukla Vs State of Uttar Pradesh 
b. Indra Sawhney Vs Union of India 
c. K.K. Roy Vs State of Tripura 
d. Jitender Kumar Vs State of Uttar Pradesh 
e. Answer not known 
“nrOik mLf;fpdh;” vDk; fUj;jhdJ Kjd; Kjypy; mwpKfg;gLj;jg;gl;l tof;F 
a. yl;Rkpfhe;j;;; Rf;yh Vs cj;jpug;gpuNjr muR    
b. ,e;jpuhrfhdp Vs ,e;jpa a+dpad;  
c. K.K. uha; Vs jphpGuh muR 
d. [pj;Nje;jh; Fkhh; Vs cj;jpug;gpuNjr muR 
e. tpil njhpatpy;iy 

 

86. Consider the following statements regarding Rettamalai Srinivasan. 
1. He advocated in Assembly for Adi-Dravidars to gain access to public well and 

public places. 
2. He established All India Depressed Classes Association in 1928. 
3. He participated in First and Second Round Table Conference held in London. 
a. 1, 2 are correct   b. 1, 3 are correct  c. 2, 3 are correct  
d. All are correct   e. Answer not known 
,ul;ilkiy rPdpthridg; nghWj;J fPo;f;fz;l $w;Wf;fis MuhaTk;. 
1. Mjpjpuhtplh;fs; nghJ ,lq;fs; kw;Wk; nghJ fpzWfis gad;gLj;Jtjw;f;F 

rl;lkd;wj;jpy; thjpl;lhh;. 
2. 1928 y; midj;jpe;jpa xLf;fg;gl;Nlhh; $l;likg;G njhlq;fpdhh;. 
3. yz;ldpy; eilngw;w Kjy; kw;Wk; ,uz;lhtJ tl;l Nkir khehLfspy; fye;J 

nfhz;lhh;. 
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a. 1, 2 rhp    b. 1, 3 rhp   c. 2, 3 rhp   
d. midj;Jk; rhp   e. tpil njhpatpy;iy 

 
87. Arrange in chronological order. 

1. Salem Conference Act  2. Annamalai University 
3. Andhra University  4. First Communal G.O 
a. 4 – 3 – 2 – 1  b. 4 – 1 – 2 – 3   c. 1 – 4 – 3 – 2  
d. 4 – 1 – 3 – 2  e. Answer not known 
fhythpirg;gLj;Jf. 
1. Nryk; khehL   2. mz;zhkiy gy;fiyf;fofk; 
3. Me;jpuh gy;fiyf;fofk;  4. Kjy; tFg;Gthj murhiz 
a. 4 – 3 – 2 – 1   b. 4 – 1 – 2 – 3   c. 1 – 4 – 3 – 2  
d. 4 – 1 – 3 – 2   e. tpil njhpatpy;iy 

 
88. The constitution of Jammu and Kashmir came into force on  

a. 31 October 1951    b. 31 October 2019  c. 26 January 1956  
d. 26 January  1957   e. Answer not known 
[k;K-fh~;kPh; murpayikg;G eilKiwf;F te;j Mz;L 
a. 31 mf;Nlhgh;  1951   b. 31 mf;Nlhgh; 2019  c. 26 [dthp 1956  
d. 26 [dthp 1957   e. tpil njhpatpy;iy 

 
89. Which district of India become first ever carbon neutral district? 

a. Majuli   b. Sharanapur  c. Kanyakumari  
d. Gaya   e. Answer not known 
,e;jpahtpd; Kjy; fhh;gd; eLepiy khtl;lk; vJ? 
a. k[{yp   b. ~uhdg+h;   c. fd;dpahFkhp   
d. fah    e. tpil njhpatpy;iy 

 
90. Identify the places which lies in the rain shadow region of the western ghats 

I. Mumbai   II. Mangalore  III. Coimbatore 
IV. Bengaluru  V. Goa 
a. II, III   b. I, III, V   c. III, IV, V 
d. III, IV   e. Answer not known 
Nkw;F njhlh;r;rp kiyapd; kio kiwT gpuNjrj;jpy; mike;Js;s ,lj;ij milahsk; 
fhz;f 
I. Kk;ig   II. kq;f@h;   III. Nfhak;Gj;J}h; 
IV. ngq;f@h;   V. Nfhth 
a. II, III   b. I, III, V   c. III, IV, V 
d. III, IV   e. tpil njhpatpy;iy 

 
91. Consider the following statements about Vallalar? 

1. Vallalar was born on October 5, 1823 in Marudhur. 
2. October 5, is observed as Thaniperum Karunainaal by Tamil Nadu Government. 
a. 1 alone is correct  b. 2 alone is correct  c. Both are correct   
d. Both are wrong  e. Answer not known 
ts;syhiug; gw;wpa fPo;f;fz;l $w;Wfis MuhaTk;. 
1. ts;syhh; mf;Nlhgh; 5> 1823 y; kUJ}hpy; gpwe;jhh;. 
2. jkpof murhy; mf;Nlhgh; 5> jdpg;ngUk; fUiz ehshf nfhz;lhlg;gl;L tUfpwJ. 
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp   
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
 



 

24 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

92. Consider the following statements.  
I. First Female Deputy Speaker in Madras was – Rukmini Lakshmipathy  
II. First Female Legislator in Madras Legislative Counsil was Dr. Muthu Lakshmi 

Reddy.  
Which of the statements given above is/are incorrect?  
a.  I only    b. II only    c.  Both I and II    
d.  neither I nor II  e. Answer not known 
gpd;tUk; $w;Wfspy; jtwhdJ vJ / vit?  
I. kjuhrpd; Kjy; ngz; Jiz rghehafh; Uf;kzp yl;Rkpgjp  
II. kjuh]; rl;lNkyitapd; Kjy; ngz; rl;lkd;w cWg;gpdh; lhf;lh; Kj;Jyl;Rkp nul;b  
a. I kl;Lk;   b. II kl;Lk;   c. ,uz;Lk; 
d. ,uz;Lkpy;iy   e. tpil njhpatpy;iy 

 
93. How many pairs are correctly matched? 

Rivers    Tributaries 
I. Yamuna   - Betwa 
II. Brahmaputra  -  Dibang 
III. Mahanadi  -  Sheonath 
IV. Krishna   -  Penganga 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
ejpfs;    Jiz ejpfs; 
I. aKdh   - ngl;th 
II. gpuk;kGj;jpuh  -  jpghq; 
III. kfhejp   -  rpNahehj; 
IV. fpU~;zh   -  ngd;fq;fh 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 
94. Find out the correct statement regarding Dheeran Chinnamalai. 

I. He had friendship with Hyder Ali.  
II. French army trained him.  
III. His soldiers were fought in support of Tippu Sulthan in Mysore war.  
a. I and II   b. II and III    c. I and III 
d. All the above  e. Answer not known 
jPud; rpd;dkiyg; gw;wpa gpd;tUk; $w;Wfspy; rhpahdJ? 
I. ,tUf;F i`jh; mypapd; el;G fpilj;jJ  
II. gpnuQ;R gil ,tUf;Fg; gapw;rpaspj;jJ  
III. ik#h; Nghhpy; jpg;G Ry;jhDf;F Mjuthf ,thpd; tPuh;fs; Nghhpl;ldh; 
a. I kw;Wk; II   b. II kw;Wk; III  c. I kw;Wk; III 
d. midj;Jk;   e. tpil njhpatpy;iy 

 
95. Special feature of the third session of INC held at Madras. 

a. Major part of expenditure collected from public. 
b. Government incurred entire expenditure of the session. 
c. Major part of expenditure incurred by government. 
d. Entire expenditure incurred by the owner of Hindu newspaper M. 

Vijayaragavachariyar 
e. Answer not known 
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nrd;idapy; eilngw;w %d;whk; fhq;fpu]; khehl;bd; rpwg;G mk;rk; ahJ? 
a. nrytpd; ngUk;gFjp nghJkf;fsplkpUe;J t#ypf;fg;gl;lJ. 
b. khehl;bd; KOr; nrytpidAk; muNr Vw;Wf;nfhz;lJ. 
c. nrytpd; ngUk;gFjpapid muNr Vw;Wf;nfhz;lJ. 
d. khehl;bd; KOr; nrytpidAk; ,e;J gj;jpupf;if epu;thfpahd K.tp[auhfthr;rhupahu; 

Vw;Wf;nfhz;lhu;. 
e. tpil njhpatpy;iy 

 

96. Choose the correct statements 
I. India has emerged as the world’s largest producer and consumer of sugar 
II. India is the world’s 2nd largest exporter of sugar 
III. South India has a tropical climate which is suitable for higher sucrose content giving 

a higher yield per unit area as compared to north India 
IV. In 2012, Rangarajan Committee was appointed to give recommendations on 

regulation of the sugar industry. 
a. I, II only   b. III, IV only   c. I, II, III only 
d. All the above  e. Answer not known 
rhpahd $w;Wfisj; Njh;T nra;f 
I. cyfpd; kpfg;nghpa rh;f;fiu cw;gj;jp kw;Wk; Efh;Nthh; ehlhf ,e;jpah 

cUntLj;Js;sJ. 
II. ,e;jpah rh;f;fiu Vw;Wkjpapy; cyfpy; ,uz;lhtJ nghpa Vw;Wkjpahsuhfj; 

jpfo;fpd;wJ. 
III. njd;dpe;jpahtpy; ntg;gkz;ly fhyepiy epyTtjhy; tl ,e;jpahitf; fhl;bYk; xU 

myF gFjpf;F mjpf kf#iyAk;> mjpf Rf;Nuh]; msitAk; nfhz;bUf;fpwJ. 
IV. rh;f;fiuj; njhopw;rhiyfis xOq;FgLj;Jtjw;fhd ghpe;Jiufis toq;f uq;fuh[d; 

fkpl;b 2012Mk; Mz;L mikf;fg;gl;lJ. 
a. I, II kl;Lk;   b. III, IV kl;Lk;  c. I, II, III kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

97. Three important rivers of the Indian subcontinent have their source near the Manasarovar 
Lake in the Greater Himalayas. Which among the following are the rivers? 
a. Indus, Jhelum, Sutlej   
b. Sutlej, Yamuna and Brahmaputra 
c. Brahmaputra, Indus and Sutlej 
d. Sutlej, Jhelum and Yamuna 
e. Answer not known 
,e;jpaj; Jizf;fz;lj;jpd; %d;W Kf;fpakhd MWfs; nghpa ,kakiyapy; cs;s 
khdrNuhth; Vhpf;F mUfpy; cUthfpd;wd. gpd;tUk; MWfspy; mk;%d;W ahit? 
a. rpe;J> [Pyk; kw;Wk; rl;ny[;  
b. rl;ny[;> aKdh kw;Wk; gpuk;kGj;jpuh 
c. gpuk;kGj;jpuh> rpe;J kw;Wk; rl;ny[; 
d. rl;ny[;> [Pyk; kw;Wk; aKdh 
e. tpil njhpatpy;iy 
 

98. Identify the correct statements about Vanchinathan 
1. He was the son of Sengottai Ganapathy Iyer 
2. He was working in Punalur’s Forest department of Travancore.  
3. V.V.S.Iyer trained him to use Browning Pistol 
a. 1,2,3   b. 1,2 only   c. 2, 3 only   
d. 1, 3 only   e. Answer not known 
thQ;rpehjd; Fwpj;j rupahd $w;Wfs; vit? 
1. nrq;Nfhl;il fzgjp Iaupd; kfd; 
2. jpUtpjhq;$upYs;s GdY}upy; murhq;ff; fhl;byhfhtpy; gzpGupe;J te;jhu;. 
3. ,tUf;F gpnusdpq; ifj;Jg;ghf;fpahy; RLtjw;F gapw;rp mspj;jth; t.Nt.R. Iau;. 
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a. 1, 2, 3   b. 1, 2 kl;Lk;   c. 2, 3 kl;Lk;  
d. 1, 3 kl;Lk;   e. tpil njhpatpy;iy 

 
99. Which of the following statements about Chembakaraman is / are correct? 

1. He belonged to Nanjil Nadu. 
2. He founded a newspaper called ‘Pro India’ 
3. He was a reliable ally of the German emperor Kaiser. 
a. 1, 2     b. 1, 3      c. 2, 3 
d.  all of these  e. Answer not known 
gpd;tUk; $w;Wfspy; nrz;gfuhkd; Fwpj;J rupahdit vit? 
1. ehQ;rpy; ehl;ilr; Nru;e;jtu;. 
2. ‘GNuh ,e;jpah’ vd;w ngaupy; gj;jpupf;if elj;jpdhu;. 
3. n[u;kd; mjpguhd nfa;rupd; ek;gpf;iff;Fg; ghj;jpukhdtu;. 
a. 1, 2     b. 1, 3      c. 2, 3 
d. midj;Jk;   e. tpil njhpatpy;iy 
 

100. How many pairs are correctly matched? 
I. Kolkata Port  - Indias riverine Port 
II. Chennai Port  - All Weather Port 
III. Vishakapatnam  - Deepest Port of India 
IV. Tuticorin Port - Artificial deep sea harbour 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. fy;fj;jh JiwKfk; - ,e;jpahtpd; ejp JiwKfk; 
II. nrd;id JiwKfk; - midj;J fhyepiy JiwKfk; 
III. tprhfg;gl;bdk; JiwKfk; - ,e;jpahtpd; kpfMokhd JiwKfk; 
IV. J}j;Jf;Fb JiwKfk; - kpfTk; Mokhd nraw;ifj; JiwKfk; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 

d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

101. Consider the following 
Assertion(A); Tamil Nadu has a distinct importance in Rowlatt Satygraha started by 
Gandhi. 

 Reason    (R): The date for Rowlatt Satyagraha was decided in Tamil Nadu 
 a. Both (A) and (R) are true and (R)is the correct explanation of (A) 
 b. (A) is true but (R)is false 
 c. (A) is false but (R)is true 
 d. Both (A) and (R) are true but (R)is not the correct explanation  of (A) 
 e. Answer not known 

gpd;tUtdtw;iw Ma;f 
$w;W (A): fhe;jp Jtf;fpa nusyl; rj;jpahfpufj;jpy; 
   jkpo;ehl;Lf;Fj; jdpr; rpwg;Gz;L. 
fhuzk; (R): nusyl; rj;jpahfpufj;jpw;fhd Njjp jkpo;ehl;by;jhd; cWjpnra;ag;gl;lJz  

a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 
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102. Editor of the newspaper ‘Tamil Nadu’ 
a. P.S.Srinivasa Shastri  b. Varadharajulu Naidu c. Thiru.Vi.Ka 
d. Periyar    e. Answer not known 
‘jkpo;ehL’ gj;jpupf;ifapd; Mrpupau;  
a. gp.v];. rPdpthr rh];jpup  b. tujuh[Y ehAL  c. jpU.tp.f  
d. ngupahu;    e. tpil njhpatpy;iy   
 

103. Match the following 
Tribals   State 
A. Gujjars   1. Kerala 
B. Katkari   2. Jammu and Kashmir 
C. Uralis   3. Maharashtra 
D. Kuki   4. Manipur  
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 1 4 2 
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf 
goq;Fbapdh;  khepyk; 
A. F[;[h;fs;  1. Nfush 
B. fj;fhp  2. [k;K kw;Wk; fh~;kPh; 
C. cuhypfs;  3. k`huh~;buh 
D. Ff;fp  4. kzpg;g+h; 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 1 4 2 
d. 4 2 1 3 
e. tpil njhpatpy;iy 
 

104. How many pairs are correctly matched? 
Towns   Industries 
I. Ankleshwar  - Oil Refining 
II. Aluva   - Monazite factory 
III. Barauni  - Petroleum industry 
IV. Bongaigaon   - Steel factories 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
efuq;fs;   njhopw;rhiyfs; 
I. mq;fpNy~;th;  - vz;nza; Rj;jpfhpg;G 
II. mYth   - Nkhdirl; njhopw;rhiy 
III. gut;dp   - ngl;Nuhypaj; njhopw;rhiy 
IV. nghq;iffhNthd; - v/F njhopw;rhiyfs; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
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105. Which of the following statements about Salt Satyagraha in Tamil Nadu is / are correct? 
1. Congress headquarters was shifted from madras to Thanjavur 
2. Trichy became the centre for civil disobedience movement. 
3. Salt Satyagraha was started on 13 April 1930, the day on which coincided with Jallian 
Wala Bagh tragedy day. 
a. 1, 2, 3   b. 1, 2     c. 1, 3 
d. 2, 3    e. Answer not known 
gpd;tUtdtw;Ws; jkpo;ehl;by; eilngw;w cg;Gr;rj;jpahfpufk; gw;wpa rupahd $w;Wfs; 
vit? 
1. fhq;fpu]; jiyikafk; nrd;idapypUe;J jQ;rhT+Uf;F khw;wg;gl;lJ. 
2. jpUr;rp rl;lkWg;G ,af;f ikakhfj; jpfo;e;jJ. 
3. [hypad; thyhghf; gLnfhiy ehSk; xd;whfr; Nru;e;j 1930 Vg;uy; 13Mk; ehsd;W 

Jtq;fg;gl;l cg;G rj;jpahfpufk; [hypad;thyhghf; gLnfhiy jpdKk; xNu jpdj;ij 
xj;jpUe;jJ. 

a. 1, 2, 3   b. 1, 2     c. 1, 3 
d. 2, 3    e. tpil njhpatpy;iy 

 
106. During Quit India Movement in Tamilnadu, the statue of king George V was desecrated in, 

a. Madurai   b. Coimbatore  c. George Town, Madras 
d. Rajapalayam  e. Answer not known 
nts;isaNd ntspNaW ,af;fj;jpd;NghJ jkpo;ehl;by; Ie;jhk; [hu;[; kd;du; rpiy 
cilf;fg;gl;l ,lk;. 
a. kJiu   b. Nfhak;gj;J}u;  c. nrd;id [hu;[; lTd; 
d. uh[ghisak;  e. tpil njhpatpy;iy 
 

107. How many pairs are correctly matched based on 2011 census? 
I. Kerala   - Highest literary rate and sex ratio 
II. Bihar   - Lowest Literary rate and highest population density 
III. Haryana  - Lowest sex ratio 
IV. Arunachal Pradesh - Highest Child sex ratio 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
2011 kf;fs;njhif fzf;nfLg;gpd;gb fPo;f;fz;ltw;Ws; rhpahf nghUe;jpa ,izfs; 
vj;jid? 
I. Nfush   - kpf mjpf vOj;jwpT tPjk; kw;Wk; ghypd tpfpjk; 
II. gPfhh;   - kpf Fiwe;j vOj;jwpT tPjk; 
III. `hpahdh  - kpf Fiwe;j ghypd tpfpjk; kw;Wk; kpf mjpf kf;fs; mlh;j;jp 
IV. mUzhr;rygpuNjrk; - kpf mjpf Foe;ij ghypd tpfpjk; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

108. How many pairs are correctly matched? 
I. Gir National Park   - Gujarat 
II. Gautam Buddha Sanctuary - Bihar and Jharkhand 
III. Jaldapara Sanctuary   - West Bengal 
IV. Kaziranga National Park  - Assam 
a. One pair   b. Two Pairs   c. Three Pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. fph; Njrpag;g+q;fh   - F[uhj; 
II. nfsjk Gj;jh; ruzhyak;  - gPfhh; kw;Wk; [hh;f;fz;l; 
III. [y;jghuh ruzhyak;  - Nkw;F tq;fk; 
IV. fhrpuq;fh Njrpa g+q;fh  - m];]hk; 
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a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

109. Arrange the following gases in descending order based on their percentage in atmosphere? 
I. Nitrogen   II. Oxygen   III. Carbon-di-oxide 
IV. Argon   V. Neon 
a. I, II, III, IV, V  b. I, II, IV, V, III  c. I, II, IV, III, V 
d. I, III, IV, II, V  e. Answer not known 
gpd;tUk; thAf;fis mit tspkz;lyj;jpy; ,lk;ngw;Ws;s rjtPjj;jpd; mbg;gilapy; 
,wq;Fthpirapy; thpirg;gLj;Jf 
I. iel;u[d;   II. Mf;rp[d;    III. fhh;gd; il Mf;irL 
IV. Mh;fhd;   V. epahd; 
a. I, II, III, IV, V  b. I, II, IV, V, III  c. I, II, IV, III, V 
d. I, III, IV, II, V  e. tpil njhpatpy;iy 
 

110. Identify the correctly matched pairs 
Book   - Author 

i) Sarvodaya   - Jawaharlal Nehru 
ii) Hind Swaraj   - Gandhi 
iii) The Volcano   - Veer Savarkar 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. Answer not known  
gpd;tUtdtw;Ws; rupahd ,iziaj; Nju;e;njL  

E}y;    Mrpupah; 
i) ru;Nthjak;   - [t`h;yhy; NeU 
ii) ,e;J Rauh[;   - fhe;jp 
iii) vhpkiy   - tPurthu;f;fu; 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 
 

111. Choose incorrect statement regarding RIGHTS project 
i. It is assisted by World Bank with 162 $ million. 
ii. The project is to strengthen social protection system for old age people. 
iii. The project is implemented in Tamil Nadu. 
a. i  b. ii  c. i, ii  d. i, ii, iii  e. Answer not known 
RIGHTS jpl;lk; Fwpj;j jtwhd $w;Wfisf; fz;lwpf 
i. ,J cyf tq;fpahy; 165 kpy;ypad; lhyu; epjpAjtp mspf;fg;gLk; jpl;lk; 
ii. ,e;j  jpl;lk; KjpNahUf;fhd r%f ghJfhg;G mikg;ig tYg;gLj;JfpwJ 
iii. ,e;j jpl;lk; jkpo;ehl;by; nray;gLj;jg;gLfpwJ 
a. i  b. ii  c. i, ii  d. i, ii, iii  e. tpil njupatpy;iy 
 

112. Ganga river flowing states 
I. Jammu and Kashmir  II. Uttarpradesh 
III. Uttarakhand   IV. Bihar 
V. Jharkhand   VI. West Bengal 
a. I, II, III, V   b. II, III, IV, V          c. II, III, IV, V, VI 
d. All the above  e. Answer not known 
fq;if MW ghAk; khepyq;fs; vit? 
I. [k;K kw;Wk; fh~;kPh;  II. cj;jug;gpuNjrk; III. cj;jufhz;l; 
IV. gPfhh;    V. [hh;f;fz;l;  VI. Nkw;F tq;fk; 
a. I, II, III, V   b. II, III, IV, V  c. II, III, IV, V, VI 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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113. Which is the largest tributary of Indus River? 
a. Sutlej   b. Ravi    c. Jhelum 
d. Chenab   e. Answer not known 
rpe;J ejpapd; kpf ePskhd Jiz MW vJ? 
a. rl;y[;   b. uhtp    c. [Pyk; 
d. nrdhg;   e. tpil njhpatpy;iy 
 

114. Choose correct pairs 
i. Sundaradevan  - MSME sector 
ii. SECURE Software - MNREGS 
iii. e-MATHI   -  Self Help Groups 
a. only 1 pair    b. 2 pairs    c. 3 pairs 
d. None of these   e. Answer not known 
rupahd ,izfisf; fz;lwpf 
i. Re;juNjtd;  - MSME Jiw 
ii. SECURE nkd;nghUs; - MNREGS 
iii. e - kjp (MATHI)  - Ra cjtpf; FOf;fs; 
a. 1 ,izkl;Lk;   b. 2 ,izfs;   c. 3 ,izfs; 
d. vJTkpy;iy   e. tpil njupatpy;iy 

 
115. Choose incorrect pairs 

i. TNSUDP  - World Bank 
ii. TNUFIP  - Asian Development Bank 
iii. TEAP  - World Bank 
iv. ETRP  - Asian Development Bank 
a. 1 pair   b. 2 pairs   c. 3 pairs   
d. 4 pairs   e. Answer not known 
jtwhd ,izfisf; fz;lwpf 
i. TNSUDP  - cyf tq;fp 
ii. TNUFIP  - Mrpa tsu;r;rp tq;fp 
iii. TEAP  - cyf tq;fp 
iv. ETRP  - Mrpa tsu;r;rp tq;fp 
a. 1 ,izfs;  b. 2 ,izfs;  c. 3 ,izfs; 
d. 4 ,izfs;  e. tpil njupatpy;iy 

 

116. A farmer has a field in the shape of a rhombus. The perimeter of the field is 400m and one 
of its diagonal is 120m. He wants to divide the field into two equal parts to grow two 
different types of vegetables. Find the area of the field. 
a. 9600 m2   b. 6900 m2   c. 4800 m2  
d. 3600 m2   e. Answer not known 

tptrhap xUtu; rha;rJu tbtpyhd epyj;ij itj;Js;shu;. me;j epyj;jpd; Rw;wsT 400kP 
kw;Wk; mjd; xU %iytpl;lj;jpd; msT 120kP MFk;. ,uz;L ntt;NtW tifahd 
fha;fwpfisg; gapupl mtu; epyj;ij ,U rkgFjpfshfg; gpupf;fpwhu; vdpy; me;j KO 
epyj;jpd; gug;igf; fhz;f. 
a. 9600 kP2   b. 6900 kP2           c. 4800 kP2   
d. 3600 kP2   e. tpil njupatpy;iy 

 

117. If + stands for ×, - stands for ÷, x stands for – and ÷ stands for + there 25 + 32 - 4 × 12 ÷ 3 
a. 137  b. -125  c. 191  d. -197  e. Answer not known 

+ vd;gJ ×, - vd;gJ ÷, × vd;gJ – kw;Wk; ÷ vd;gJ + Fwpj;jhy; 25 + 32 – 4 × 12 ÷ 3 
vd;gJ 
a. 137  b. -125  c. 191  d. -197  e. tpil njupatpy;iy 
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118. Find the sum of 93 + 103 + …. + 213  
a. 50265   b. 52065   c. 55062   
d. 56025   e. Answer not known 
$Ljy; fhz;f 93 + 103 + …. + 213 
a. 50265   b. 52065   c. 55062   
d. 56025   e. tpil njupatpy;iy 

 

119. The total surface area of a cylinder whose radius is 
1

3
of its height is 

a. 
29

8

h
sq. units    b. 

28

9

h
 sq. units  

c. 24 2h  sq. units    d. 
256

9

h
 sq. units 

e. Answer not known 
Xu; cUisapd; Muk; mjd; cauj;jpy; %d;wpy; xU gq;F vdpy;> nkhj;jg; Gwg;gug;G 

a. 
29

8

h
 rJu myFfs;   b. 

28

9

h
 rJu myFfs;   

c. 24 2h   rJu myFfs;   d. 
256

9

h
rJu myFfs; 

e. tpil njupatpy;iy 
 
120. In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each successive 

row contains two additional seats than its front row. How many seats are there in the last 
row?  
a. 56  b. 78  c. 86  d. 108  e. Answer not known 
xU rpdpkh muq;fpd; Kjy; tupirapy; 20 ,Uf;iffSk; nkhj;jk; 30 tupirfSk; cs;sd. 
mLj;jLj;j xt;nthU tupirapYk; mjw;F Ke;ija tupiriatpl ,uz;L ,Uf;iffs; 
$Ljyhf cs;sd. filrp tupirapy; vj;jid ,Uf;iffs; ,Uf;Fk;?   
a. 56  b. 78  c. 86  d. 108  e. tpil njupatpy;iy 

 
121. Choose the correct statements 

I. The Gerosappa falls made by the Sharavati river is the most famous waterfall of 
India 

II. Sharavati is a river which originates and flows entirely within the state of Karnataka 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;T nra;f 
I. ~uhtjp ejpahy; cUthf;fg;gl;l n[urg;gh ePh;tPo;r;rp ,;e;jpahtpd; kpfTk; gpugykhd 

ePh;tPo;r;rpahFk;. 
II. ~uhtjp ejp KOf;f KOf;f fh;ehlf khepyj;jpy; cw;gj;jpahfp gha;fpwJ. 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

122. Which of the following is not correctly matched? 
a. Jaduguda – Uranium  b. Raichur – Gold  c. Panna – Diamond   
d. Hazaribagh – Monazite  e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhfg; nghUj;jg;gl;Ls;sJ? 
a. [LFlh – ANudpak;  b. nua;r;#h; - jq;fk;  c. gd;dh – ituk;   
d. `rhhpghf; - Nkhdirl;  e. tpil njhpatpy;iy 
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123. Assertion (A): Government of India launched Mission Vatsalya on April 1, 2021. 
Reason (R): India is Home to over 472 million children. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is false, (R) is true 
d. (A) is true, (R) is false 
e. Answer not known 
$w;W (A): ,e;jpa muR kp~d; thj;ry;ah jpl;lj;ij Vg;uy; 1>2021 md;W njhlq;fpaJ. 
fhuzk; (R): ,e;jpah> 472 kpy;ypad; Foe;ijfspd; ,Ug;gplkhf cs;sJ 
a. A kw;Wk; R ,uz;Lk; rup NkYk; R> A tpw;F rupahd tpsf;fkhFk; 
b. A kw;Wk; R ,uz;Lk; rup Mdhy; R> A tpw;F rupahd tpsf;fky;y 
c. A jtW > R rup 
d. A rup> R jtW 
e. tpil njupatpy;iy 
 

124. Choose correct statement regarding CMRDP 
i. It is a road development scheme of Government of Tamil Nadu. 
ii. CMRDP is announced in 2021. 
iii. Road of 8900 km of length to be newly developed in next 5 years. 
a. i  b. i, ii  c. i, iii  d. all of the above e. Answer not known 
CMRDP njhlu;ghd rupahd $w;Wfis fz;lwpf 
i. ,j jkpo;ehL murpd; rhiy Nkk;ghl;Lj; jpl;lkhFk; 
ii. CMRDP 2021 – y; mwptpf;fg;gl;lJ 
iii. mLj;j 5 Mz;Lfspy;> 8900 fpkP mstpyhd rhiyfs; Nkk;gLj;jg;gl;l cs;sd. 
a. i     b. i, ii     c. i, iii   
d. Nkw;fz;l midj;Jk;  e. tpil njupatpy;iy 
 

125. The TX2 goal is related to 
a. Tiger    b. Lion   c. Gangetic Dolphin   
d. One horned rhinoceres   e. answer not known 
TX2 ,yf;F vjDld; njhlh;GilaJ? 
a. Gyp     b. rpq;fk;   c. fq;if lhy;gpd;   
d. xw;iwf; nfhk;G fhz;lhkpUfk; e. tpil njhpatpy;iy 

 
126. Who among the following Mughal emperors, after his recovery from illness, wore pearl 

earing as a token of thanks to the Sufi Saint Khwaja Moin-ud-din Chisti? 
a. Humayun  b. Akbar   c. Jahangir   
d. Shah Jahan e. Answer not known  
fPo;f;fz;l Kfyhag; Nguurh;fspy; jdJ cly;epiy Nkhrkhd #o;epiyapy; ,Ue;J 
kPz;lNghJ> #/gp J}wtp Fth[h nkha;d;-cj;-jpd;-rp];l; mth;fSf;F ed;wp nrYj;Jk; 
tpjkhf Kj;ij fhjzpahf mzptpj;jth; ahh;?  
a. P̀khA+d;  b. mf;gh;   c. [`hq;fPh;   
d. ~h[fhd;  e. tpil njhpatpy;iy 

 
127. The Maratha claim of revenue for protection is called: 

a. Sardeshmukhi  b. Chauth   c. Jama   
d. Abwab   e. Answer not known 
kuhj;jpa murpy; ghJfhg;gpw;fhd tUtha; Nfhhpf;ifapd; ngah;  
a. rh;Nj~;Kfp  b. nrsj;    c. [kh   
d. mg;tg;    e. tpil njhpatpy;iy 
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128. Choose incorrect pairs 
i. World Tamil Sangam – 1986 
ii. International Institute of Tamil Studies – 1970 
iii. Central Institute of Indian Languages – Mysore 
iv. Central Institute of Classical Tamil – Chennai 
a. 2 pairs    b. 3 pairs   c. 4 pairs   
d. None of the above  e. Answer not known 
jtwhd ,izfisf; fz;lwpf 
i. cyf jkpo; rq;fk; - 1986 
ii. cyf jkpohuha;r;rp epWtdk; - 1970 
iii. ,e;jpa nkhopfspd; kj;jpa epWtdk; - ik#u; 
iv. nrk;nkhop jkpoha;T kj;jpa epWtdk; - nrd;id 
a. 2 ,izkl;Lk;   b. 3 ,izfs;  c. 4 ,izfs; 
d. Nkw;fz;l vJTkpy;iy  e. tpil njupatpy;iy 

 
129. Consider the following statement regarding TNSMART. 

i. It is a webportal related to e-Governance. 
ii. It is developed by TneGA. 
iii. TNSMART is developed with World Bank Funding Assistance. 
a. i, ii are incorrect   b. i, ii are correct  c. i, iii are correct 
d. all are correct   e. Answer not known 
TNSMART Fwpj;j gpd;tUk; $w;Wfis Ma;f 
i. ,J kpd;dZ MSif njhlu;ghd xU ,izajskhFk;. 
ii. ,J TneGA thy; cUthf;fg;gl;lJ 
iii. TNSMART cyf tq;fpapd; epjp cjtpahy; cUthf;fg;gl;lJ 
a. i> ii jtW    b. i> ii rup   c. i> iii rup 
d. midj;Jk; rup   e. tpil njupatpy;iy  

 
130. Who amongst the following established “Diwan-e-amirkohi” during Delhi sultanate? 

a. Alauddin Khilji  b. Feroz Tughlaq  c. Mohd bin Tughlaq   
d. Iltutmish    e. Answer not known 
gpd;tUtdtw;Ws;> nly;yp Ry;jhdpd; ahUila Ml;rpapd; NghJ 'jpthd;-,-mkpH;nfh`p" 
epWtg;gl;lJ?  
a. myhTjPd; fpy;[p  b. ngNuh]; Jf;sf;   c. KfkJ gpd; Jf;sf;   
d. ,y;Jkp~;   e. tpil njhpatpy;iy 

 
131. Silver 'Tanka' and Copper 'Jital' were introduced by 

a. Qutubuddin Aibek   b. Raziya Sultana    c. Iltutmish    
d. Balban     e. Answer not known 
nts;spapy; “lq;fh” kw;Wk; jhkpuj;jpy; “[pl;ly;” vd;w ehzaq;fis mwpKfg;gLj;jpath; 
ahh;? 
a. Fj;GjPd; Igf;   b. urpah Ry;jhdh   c. ,y;Jkp~;   
d. ghy;gd;    e. tpil njhpatpy;iy 

 
132. Industrial estates in Tamil Nadu are developed by _____ 

a. SIPCOT   b. TANSI   c. TANSIDCO 
d. TIDCO   e. Answer not known 
jkpo;ehl;by; njhopw;Ngl;ilfs; _______ My; mikf;fg;gLfpd;wd. 
a. SIPCOT   b. TANSI   c. TANSIDCO 
d. TIDCO    e. tpil njupatpy;iy 
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133. Public Library Act was enacted in Tamil Nadu during ____ as education minister. 
a. Rajaji   b. T.S. Avinashilingam  c. Rukmani Laxmipathy 
d. Aranganayagam  e. Answer not known 
_________ fy;tp mikr;ruhf ,Uf;Fk; NghJ jkpo;ehl;by; nghJ E}yf rl;lk; ,aw;wg;gl;lJ 
a. ,uh[h[p   b. T.S. mtpdhrpypq;fk;  c. Uf;kzp yl;Rkpgjp 
d. muq;fehafk;  e. tpil njupatpy;iy 

 
134. Which of the following systems were the backbones of the Vijaynagar administration?  

a. Nitinirdesha and Dandniti 
b. Karyapalika and Nayankara  
c. Nayankara and Ayagar  
d. Dandniti and Spy system  
e. Answer not known 

 gpd;tUk; ve;j mikg;Gfspy; tp[aefh; eph;thfj;jpd; KJnfYk;Gfs; ,Ue;jd?  
a. epjp kw;Wk; jz;lid nfhs;if  
b. eph;thf nfhs;if kw;Wk; ehaq;fuh  
c. ehaq;fuh kw;Wk; Maf;fh; Kiw 
d. jz;lid nfhs;if kw;Wk; csT mikg;G  
e. tpil njhpatpy;iy 

 
135. Which of the following sources indicate that the last Mauryan ruler Brihadratha was 

assassinated by Pushyamitra? 
a. Inscriptions   b. Gargi Samhita      c. Puranas        
d. Harshacharita   e. Answer not known 
nkshpa Nguurpd; filrp Ml;rpahsuhfpa gpU`j;uj;jd; vd;gth; G~;akpj;uh vd;gtuhy; 
gLnfhiy nra;ag;gl;lhh; vd;gij gpd;tUk; ve;j Mjhuj;jpd; %yk; mwpaKbfpd;wJ? 
a. fy;ntl;Lfs;  b. fhh;fp rk`pjh   c. Guhzq;fs;   
d. `h;rrhpjk;   e. tpil njhpatpy;iy 
 

136. Where have the remains of a highly advanced water management system of Indus valley 
civilization been discovered? 
a. Kalibangan  b. Lothal   c. Ropar   
d. Dholavira   e. Answer not known 
rpe;J rkntsp ehfhpfj;jpd; Nkk;gl;l ePh; Nkyhz;ik mikg;gpd; vr;rq;fs; vq;F 
fz;Lgpbf;fg;gl;ld?  
a. fhspgq;fd;  b. Nyhjy;   c. Nuhgh;   
d. njhstpuh   e. tpil njhpatpy;iy 

 
137. Directorate of Non-Formal and Adult education was created in Tamil Nadu in _____ 

a. 1976 b. 1977 c. 1978  d. 1980 e. Answer not known 
gs;sp rhuh kw;Wk; taJ te;Njhh; fy;tp ,af;Feufk; jkpo;ehl;by; cUthf;fg;gl;l Mz;L 
a. 1976 b. 1977 c. 1978  d. 1980 e. tpil njupatpy;iy 
 

138. Choose incorrect pairs 
i. Illam Thedi Kalvi  - 27.10.2021 
ii. Ennum Ezhuthum   - 13.06.2021 
iii. Nan Mudhalvan  - 01.03.2022 
iv. School of Excellence  - 05.09.2022  
a. 1 pair   b. 2 pairs    c. 3 pairs   
d. 4 pairs   e. Answer not known 
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jtwhd ,izfisf; fz;lwpf. 
i. ,y;yk; Njb fy;tp - 27.10.2021 

ii. vz;Zk; vOj;Jk; - 13.06.2021 
iii. ehd; Kjy;td;  - 01.03.2022 
iv. jifrhy; gs;spfs; - 05.09.2022 
a. 1 ,iz   b. 2 ,izfs;   c. 3 ,izfs; 
d. 4 ,izfs;  e. tpil njupatpy;iy 

 
139. Which of the following statement is incorrect about the position of women during the age 

of Buddha?  
a. The position of women generally deteriorated  
b. There were several instances of child marriages  
c. Polygamy was gradually growing among the ruling classes 
d. Education was denied to women  
e. Answer not known 
gpd;tUk; ve;j mwpf;if Gj;ju; fhy ngz;fspd; epiy Fwpj;J jtwhdJ? 
a. nghJthfNt ngz;fspd; epiy Nkhrkile;jJ. 
b. Foe;ij jpUkz epfo;Tfs; gy ele;jd. 
c. MSk; tu;f;fj;jpdupilNa gyjhu kzk; gbg;gbahf tsu;e;J te;jJ. 
d. ngz;fSf;F fy;tp kWf;fg;gl;lJ. 
e. tpil njhpatpy;iy 

 
140. Which one of the statement is incorrect regarding the Guptas? 

a. Coins depicts the figures of Chandragupta and Kumara devi 
b. Harisena was one of the important officers of Chandragupta 
c. Samudragupta inscription found in Ashoka Pillar at Allahabad 
d. Inscription from Iran reveals the information of Samudragupta 
e. Answer not known 
Fg;jh;fis gw;wpa $w;Wfspy; jtwhd thf;fpak; vJ? 
a. ehzaq;fspy; re;jpuFg;jh; FkhuNjtp cUtq;fs; fhzg;gLfpwJ 
b. `hpNrdu; re;jpuFg;jupd; Kf;fpa mYth; Mthh; 
c. rKj;jpu Fg;jhpd; fy;ntl;L myfhghj; mNrhfu; J}z; fy;ntl;by; fhzg;gLfpwJ. 
d. <uhd; fy;ntl;L rKj;jpuFg;jiu gw;wp njhptpf;fpd;wJ. 
e. tpil njhpatpy;iy 

 
141. Find the Award instituted by Tamil Nadu Government in 2021 for encouring young writers 

less than 18 years of old. 
a. Ilanthendral Award  b. Ilam Pillai Award  c. Kavimani Award 
d. Thensittu Award   e. Answer not known 
18 taJf;Fl;gl;l ,sk; vOj;jhsu;fSf;fhf jkpo;ehL murhy; 2021-y; epWtg;gl;l tpUJ>  
a. ,se;njd;wy; tpUJ  b. ,sk;gps;is tpUJ c. ftpkzp tpUJ 
d. Njd;rpl;L tpUJ   e. tpil njupatpy;iy 
 

142. Tamil Nadu Higher education department was created in ____ 
a. 1991 b. 1997 c. 1999  d. 2001 e. Answer not known 
jkpo;ehL cau;fy;tpj; Jiw cUthf;fg;gl;l Mz;L>  
a. 1991 b. 1997 c. 1999  d. 2001  e. tpil njupatpy;iy 

 
143. What is the correct chronology of the following events of Akbar’s reign? 

I. Conquest of Malwa 
II. Abolition of pilgrim tax 
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III. Promulgation of Din-I-Ilahi 
IV. Construction of Ibadat Khana at Fatehpur sikri 

 a. I, II, IV, III   b. II, I, IV, III   c. III, IV, I, II  
d.  IV, I, II, III   e. Answer not known 
gpd;tUk; epfo;Tfspy; mf;guJ Ml;rpapd; rhpahd thpir vJ? 
I. khs;th ntw;wp 
II. ahj;hpfh;fspd; thpia xopj;jy; 
III. jPd;-I-,yh`pia gpufldg;gLj;Jjy; 
IV. gNjg+h; rpf;hpapy; ,ghjj;fhdit eph;khdpj;jy; 

 a. I, II, IV, III   b. II, I, IV, III   c. III, IV, I, II  
d.  IV, I, II, III   e. tpil njhpatpy;iy 
 

144. When a Bill is reserved by the Governor for the consideration of the President, within what 
time he must return the Bill?  
a. Three months   b. Six months    c. One year  
d. There is no time limit  e. Answer not known 
FbauRj; jiytu; mDkjp ngw MSeuhy; xJf;fp itf;fg;gl;l kNrhjhf;fs; vt;tsT 
fhyj;jpw;Fs; jpUg;gp mDg;gg;gl Ntz;Lk;? 
a. 3 khjq;fs;   b. MW khjq;fs;   c. xU Mz;L   
d. Fwpg;gpl;l fhyk; ,y;iy e. tpil njhpatpy;iy 

 
145. Choose incorrect pairs 

i. Tamil Nadu Science and Technology Centre – 1983 
ii. Science City, Chennai – 1988 
iii. Tamil Nadu State Council for Science and Technical Education – 1984 
iv. Tamil Nadu Council for Higher Education – 1994 
a. 1 pair    b. 2 pairs    c. 3 pairs 
d. None of the above  e. Answer not known 
jtwhd ,izfisf; fz;lwpf 
i. jkpo;ehL mwptpay; kw;Wk; njhopy;El;g ikak; - 1983 
ii. mwptpay; efuk;> nrd;id – 1988 
iii. jkpo;ehL khepy mwptpay; kw;Wk; njhopw;fy;tp Mizak; - 1984 
iv. jkpo;ehL cau;fy;tp Mizak; - 1994 
a. 1 ,izkl;Lk;   b. 2 ,izfs;   c. 3 ,izfs; 
d. Nkw;fz;l vJTkpy;iy  e. tpil njupatpy;iy 
 

146. SIRPI scheme is implemented by ____ 
a. Education Department  b. Police Department c. Social Welfare Department 
d. Revenue Department  e. Answer not known 
rpw;gp (SIRPI) jpl;lj;ij nray;gLj;Jk; Jiw> 
a. fy;tpj; Jiw   b. fhty; Jiw  c. r%f eyj; Jiw 
d. tUtha; Jiw   e. tpil njupatpy;iy 

 
147. The state of Jammu and Kashmir was made an Union territory of India with effect from: 

a. 26th January , 2019  b. 5th august ,2019  c. 15th September ,2019  
d. 31st October, 2019   e. Answer not known 
[k;K – fh~;kPh; khepyk; vg;NghJ A+dpad; gpuNjrkhf khw;wg;gl;L eilKiwg;gLj;jg;gl;lJ? 
a. 26 [dthp> 2019    b. 5 Mf];L 2019   c. 15 nrg;lk;gh; 2019    
d. 31 mf;Nlhgh; 2019   e. tpil njhpatpy;iy 
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148. The concept of separation of powers was given by: 
a. Montesquieu   b. Machiavelli  c. Edmund burke   
d. Samuel P. Huntigton  e. Answer not known 
mjpfhuj;ijg; gphpj;jy; Nfhl;ghL ahUilaJ?  
a. khz;Nl];fpA+   b. khf;fpaty;yp  c. vl;kz;l; gh;f;    
d. rhKNty; P. `z;bq;ld;  e. tpil njhpatpy;iy 

 
149. Which one of the following was the First state to establish the Institution of the Lokayukta 

in India? 
a. Bihar  b. Maharashtra    c. Rajasthan   
d. Odisha  e. Answer not known 
,e;jpahtpy; Nyhf; MAf;jhit epWtpa Kjy; khepyk; vJ? 
a. gPfhh;   b. kfhuh~;buk;   c. ,uh[];jhd;  
d. xbrh   e. tpil njhpatpy;iy 

 
150. Choose correct statement regarding TNUAVC. 

i. TNUAVC – Tamil Nadu Unmanned Aerial Vehicle Corporation. 
ii. Inaugrated on 25.01.2022 
iii. Established by Higher Education Ministry in Partnership with Anna University. 
a. i, ii  b. i, ii  c. i alone d. all of these  e. Answer not known 
TNUAVC Fwpj;j rupahd $w;Wfisf; fz;lwpf. 
i. jkpo;ehL Mspy;yh thd;top thfdf; fofk; 
ii. 25.01.2022 md;W njhlq;fg;gl;lJ 
iii. Cau;fy;tp mikr;rfj;jhy; mz;zh gy;fiyf;fofj;Jld; ,ize;J epWtg;gl;lJ 
a. i, ii    b. i, ii    c. i kl;Lk; 
d. Nkw;fz;l midj;Jk; e. tpil njupatpy;iy 

 
151. Tamil Nadu Government Planned to bring ____ of Fallow land into Agricultural land in 

next 10 years. 
a. 11.75 lakh acres  b. 12.75 lakh hectares  c. 11.75 lakh hectares  
d. 12.75 lakh acres  e. Answer not known 
mLj;j 10 tUlq;fspy;> ______ msT jupR epyq;fis tptrha epykhf khw;w jkpo;ehL 
muR jpl;lkpl;Ls;sJ. 
a. 11. 75 ,yl;r Vf;fu; b. 12.75 ,yl;r n`l;Nlu;  c. 11.75 ,yl;r n`f;Nlu; 
d. 12. 75 ,yl;r Vf;fu; e. tpil njupatpy;iy 

 
152. Which of the following committee voiced concern about ‘Criminalization of Politics and 

politicization of Criminals? 
a. Tarakunde committee  b. Sachar Committee   c. Vohra committee  
d. Indrajeet Gupta Committee e. Answer not known 
gpd;tUk; ve;jf; FO “Fw;wthspfspd; murpay; kakhf;fy;" gw;wp Muha;e;jJ? 
a. jhh;Fz;Nl FO    b. rr;rhh; FO    c. Nthuh FO   
d. ,e;jpu[pj; Fg;jh FO  e. tpil njhpatpy;iy 

 
153. Which of the following are matters on which the Parliament has power to modify 

provisions of the Constitution by the simple majority? 
1. Alternation of names, boundaries and areas of states  
2. Appointment of Additional Judges 
3. Abolition of second chamber of state Legislature  
4. Administration of scheduled Areas  
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Select the correct answer using the codes given below: 
a. 1, 2 and 3    b. 1,2 and 4   c. All of these  
d. 1, 3 and 4    e. Answer not known 
gpd;tUtdtw;Ws; ehlhSkd;wj;jpd; rhjhuz ngUk;ghd;ikg;gb murpayikg;gpy; vtw;iwj; 
jpUj;j KbAk;? 
1. khepyq;fspd; ngah;fs;> vy;iyfs; kw;Wk; gFjpfspy; khw;wk; nfhz;LtUtJ 
2. $Ljy; ePjpgjpfs; epakdk; 
3. khepy rl;lkd;wj;jpy; ,uz;lhtJ mitiaf; fiyj;jy; 
4. gl;baypdg; gFjpfspd; eph;thfk; 
fPo;f;fz;ltw;wpypUe;J rupahd gjpiyj; Njh;e;njLf;fTk; 
a. 1,2 kw;Wk; 3   b. 1, 2 kw;Wk; 4  c. Nkw;$wpa midj;Jk; 
d. 1, 3 kw;Wk; 4   e. tpil njhpatpy;iy  

 
154. In Tamil Nadu, importance to digital agriculture is given in _____. 

a. First Agriculture Budget   b. Second Agricultural Budget 
c. Both a and b    d. Tamil Nadu Budget 2021-22 
e. Answer not known 
jkpo;ehl;by; kpd;dZ Ntshz;ikf;F vg;NghJ Kf;fpaj;Jtk; jug;gl;lJ? 
a. Kjy; Ntshz; epjpepiy mwpf;if 
b. ,uz;lhtJ Ntshz; epjpepiy mwpf;if 
c. a kw;Wk; b 
d. 2021-22 Mk; Mz;bd; jkpo;ehL epjpepiy mwpf;if 
e. tpil njupatpy;iy  

 
155. Choose correct statement regarding 2021-22 

i. The share of Tamil Nadu in India’s GDP is 8.4%. 
ii. In India’s total expert, the contribution of Tamil Nadu is 9.22%. 
a. i alone   b. ii alone   c. Both i & ii   
d. Neither i nor ii  e. Answer not known 
2021 – 22 Mk; Mz;ilg; nghUj;J rupahd $w;Wfisf; fz;lwpf 
i. ,e;jpahtpd; GDP apy; jkpo;ehl;bd; gq;F 8.4% MFk;. 
ii. ,e;jpahtpd; nkhj;j Vw;Wkjpapy;> jkpo;ehL 9.22% gq;fspf;fpwJ. 
a. i kl;Lk;   b. ii kl;Lk;    c. i kw;Wk; ii ,uz;Lk; 
d. ,uz;Lky;y  e. tpil njupatpy;iy 

 
156. A girl is twice as old as her younger sister. Five years hence, the product of their ages (in 

years) will be 375. Find the present age of younger sister. 
a. 10 b. 8  c. 5  d. 4  e. Answer not known 
xU ngz;zpd; taJ mtuJ rNfhjupapd; taijg; Nghy ,Uklq;F MFk;. Ie;J 
Mz;LfSf;Fg; gpd; ,Uthpd; taJfspd; ngUf;fw;gyd; 375 vdpy;> rNfhjupfspy; 
jq;ifapd; jw;Nghija taijf; fhz;f. 
a. 10 b. 8  c. 5  d. 4  e. tpil njupatpy;iy 

 

157. A woman bought some eggs at the rate of 4 eggs for Rs.18 and sold them at the rate of 5 

eggs for Rs.24. She gained Rs.90 in selling all the eggs. How many eggs did she buy? 
a. 200  b. 250  c. 300  d. 375   e. Answer not known  
xU ngz; 4 Kl;ilfis &.18 tPjk; thq;fp 5 Kl;ilfis &.24 tPjk; tpw;fpwhs;. thq;fpa 
midj;J Kl;ilfisAk; tpw;wjpy; mts; &.90 I ,yhgkhfg; ngw;whs; vdpy;> mts; 
thq;fpa Kl;ilfspd; vz;zpf;if vt;tsT? 
a. 200  b. 250  c. 300  d. 375   e. tpil njupatpy;iy 
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158. 4 Y 3 N C & 9 B L P * D = ↑ M @ 2 E # 7 $ V F G 5 In the above sequence which of the 
following will be exactly in the middle between 9 and $?   
a. =   b. ↑   c. D   d. M   e. Answer not known  
NkNy cs;s njhlhpy; 9 kw;Wk; $ vd;w cWg;GfSf;F ,ilNa rhpahf eLtpy; tUk; 
cWg;igf; fhz;f.  
a. =   b. ↑   c. D   d. M   e. tpil njhpatpy;;iy  

 
159. A hemi spherical bowl of radius 30cm is filled with soap paste. If this paste is made into 

cylindrical soap cakes each of diameter 10cm and height 2cm how many cakes do we get?       
a. 90  b. 360   c. 720  d. 180  e. Answer not known                                          
30 nr.kP MuKs;s miuf; Nfhs tbt Fg;gp Nrhg;Gf; $ohy; epug;gg;gl;Ls;sJ. ,e;j 
Nrhg;Gf; $o; nfhz;L 10 nr.kP tpl;lKk; 2 nr.kP cauKk; nfhz;l cUis tbt Nrhg;Gf; 
fl;bfs; vj;jid nra;ayhk;?  
a. 90  b. 360   c. 720  d. 180  e. tpil njhpatpy;;iy 

  

160. Find the HCF of 
1 3 5 7 9 1

, , , ,
2 4 6 8 10 12

and  

a. 
1

2
  b. 

1

10
  c. 

9

120
  d. 

1

120
  e. Answer not known 

1 3 5 7 9
, , , ,

2 4 6 8 10
 kw;Wk; 

1

12
 -d; kP.ngh.t-it fz;Lgpb 

a. 
1

2
  b. 

1

10
  c. 

9

120
  d. 

1

120
  e. tpil njhpatpy;;iy 

 
161. Which of the following Act introduced bi-Cameral Legislature at the central level in India? 

a. Indian council Act 1909   b. The Government of India Act 1919 
c. The Government of India Act 1935 d. The Indian independence Act 1947 
e. Answer not known 
fPo;f;fz;ltw;Ws; ,e;jpahtpy; kj;jpa <uit nfhz;l rl;lkd;wj;ij mwpKfg;gLj;jpa rl;lk; 
vJ? 
a. ,e;jpa fTd;rpy; rl;lk; 1909  b. ,e;jpa  muR rl;lk; 1919 
c. ,e;jpa; muR rl;lk; 1935   d. ,e;jpa tpLjiy rl;lk; 1947 
e. tpil njhpatpy;iy 

 
162. Hindi in Devanagari script is the official language of the Union according to which Article 

in the Indian Constitution? 
a. Article 342   b. Article 351   c. Article 343   
d. Article 344   e. Answer not known 
Njtehfup vOj;J tbtpYs;s ,e;jp nkhop ve;j rl;l gpuptpd;gb ,e;jpa Ml;rp nkhopahf 
cs;sJ? 
a. rl;lgpupT 342   b. rl;lgpupT 351   c. rl;lgpupT 343   

d. rl;lgpupT 344   e. tpil njhpatpy;iy 
 
163. Consider the following statements. 

i. Project STAR is related to registration department of Tamil Nadu. 
ii. Project STAR was implemented in 2000. 
a. i alone is correct   b. ii alone is correct  c. Both are correct 
d. Both are wrong   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
i. ];lhu; (STAR) jpl;lk; jkpo;ehL gjpTj;JiwAld; njhlu;GilaJ. 
ii. ];lhu; jpl;lk; 2000 Mk; Mz;L nray;gLj;jg;gl;lJ 
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a. i kl;Lk; rup   b. ii kl;Lk; rup  c. ,uz;Lk; rup 
d. ,uz;Lk; jtW   e. tpil njupatpy;iy  
 

164. Choose correct statement regarding Directorate of Public Health and Preventive Medicine? 
i. It is responsible for teritary Health Care in Tamil Nadu. 
ii. It was started in 1923. 
iii. Also associated with Prevention of Food Adulteration. 
a. i, ii    b. ii, iii    c. i, ii, iii  
d. ii alone   e. Answer not known 
nghJ Rfhjhu kw;Wk; Neha; jLg;G ,af;ffk; Fwpj;j rupahd $w;Wfisf; fz;lwpf. 
i. jkpo;ehl;by; %d;whk; epiy Rfhjhu Nritfis toq;Fk; nghWg;igf; nfhz;Ls;sJ. 
ii. ,J 1923 Mk; Mz;L njhlq;fg;gl;lJ 
iii. ,J czTf; fyg;glj; jLg;gpYk; njhlu;GilaJ. 
a. i, ii    b. ii, iii    c. i, ii, iii  
d. ii kl;Lk;           e. tpil njupatpy;iy 

 
165. Under which article of the Indian constitution the supreme court has original jurisdiction to 

deal with any dispute between the centre and the state, the centre and a state on the one 
side and another state on the other or between two or more states? 
a. Article 131   b. Article 132   c. Article 133   
d. Article 134   e. Answer not known 
,e;jpa murpayikg;gpy; cr;rePjpkd;wk; jdf;Nf chpa ePjptuk;gpy; kj;jpa kw;Wk; 
khepyj;jpy; ,ilNa cs;s gpur;ridfs;> kj;jpa kw;Wk; khepyk; xU gFjpapYk; mLj;j 
gFjpapy; 2 khepyk; my;yJ mjw;F Nkw;gl;l khepyg; gpur;ridfs; jPh;f;f cs;s cWg;G 
vJ? 
a. tpjp 131   b. tpjp 132   c. tpjp 133   
d. tpjp 134   e. tpil njhpatpy;iy 

 

166. When can the parliament in India make a law on a matter enumerated in the ‘state list’? 
a. When a joint sitting of Parliament passes a resolution to that effect. 
b. When the Lok Sabha by a 2/3rds majority of members present and voting passes a 

resolution saying that it is necessary or expedient in the national interest 
c. When both the Lok Sabha and the Rajya Sabha separately passes a resolution that is 

necessary and expedient in the national interest. 
d. When the Rajya Sabha passes a resolution supported by not less than two-thirds of the 

members present and voting that such legislation is in the national interest. 
e. Answer not known 
khepy gl;bay; Fwpj;j rl;lq;fis ghuhSkd;wk; vg;NghJ ,aw;w KbAk;> 
a. ghuhSkd;wj;jpd; $l;Lf;$l;lj; njhlhpy; vLj;j jPh;khdq;fs; eilKiwf;F tUk;NghJ. 
b. Nyhf;rghtpd; cWg;gpdh; vz;zpf;if 2/3 Ngh; tUifGhpe;J mth;fsplk; thf;nfLg;G 

elj;jg;gl;L. mJ mj;jpahtrpakhf (my;yJ) Njrpa Kf;fpaj;Jtk; tha;e;jjhf ,Ug;gpd;. 
c. Njrpa Kf;fpaj;Jtk; tha;e;j Njitf;F Nyhf;rgh kw;Wk; uh[;argh ,uz;Lk; 

jdpj;jdpahf jPh;khdk; epiwNtw;wg;gLk; NghJ 
d. uh[;argh xj;Jiog;Gj; jPh;khdj;ij 2/3 gq;Ff;F mitf;F tUifGhpe;j egh;fspd; %yk; 

Njrpa Kf;fpaj;jtk; tha;e;j epfo;Tf;F mDkjpj;jy;. 
e. tpil njhpatpy;iy 

 

167. Directorte of Public Health and preventive medicine deals with 
i. RCH, Communicable deceases, Immunization. 
ii. Registration of birth. 
iii. Industrial Hygiene and Health  
iv. COVID-19 
a. i, ii  b. ii, iv  c. i,ii, iii, iv  d. iii, iv e. Answer not known 
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nghJ Rfhjhu kw;Wk; Neha; jLg;G ,af;ffj;jpd; nray;ghLfs;. 
i. RCH> njhw;W Neha; jLg;G ,af;ffj;jpd; nray;ghLfs;> 

ii. gpwg;G gjpT 
iii. njhopypay;rhu; - eyg;NgW 
iv. Nfhtpl; - 19 
a. i, ii  b. ii, iv  c. i, ii, iii, iv  d. iii, iv  e. tpil njupatpy;iy 

 
168. Consider the following statements 

i. Tamil Nadu road network is 2076 km for 1000 km2. 
ii. India road network is 1890 km for 1000 km2. 
a. i alone is correct  b. ii alone is correct   c. Both are correct  
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
i. jkpo;ehl;bd; rhiy tiyaikg;G 1000 rJu fpkP. f;F 2076 fpkP MFk; 
ii. ,e;jpahtpd; rhiy tiyaikg;G 1000 rJu fpkP. f;F 1890 fpkP MFk; 

a. i kl;Lk; rup  b. ii kl;Lk; rup   c. ,uz;Lk; rup 
d. ,uz;Lk; jtW  e. tpil njupatpy;iy 

 
169. The Supreme Court held, that forcing a person to undergo polygraph, brain mapping and 

narco analysis tests, as violative of  
a. Article 25   b. Article 20   c. Article 21 and Article 20(3)   
d. Article 360   e. Answer not known 
cr;rePjpkd;wk;> xU kdpjiu ghypfpuh/g;> %is Nkg;gpq; kw;Wk; ehh;Nfh gFg;gha;T 
Nrhjidfs; nra;a fl;lhag;gLj;JtJ. gpd;tUk; ve;j ~uj;ij kPWtjhf $WfpwJ? 
a. ~uj;J 25   b. ~uj;J 20   c. ~uj;J 21 kw;Wk; ~uj;J 20(3)  
d. ~uj;J 360  e. tpil njhpatpy;iy 

 
170. The Right to Constitutional remedies guaranteed under Article 32 of the Constitution of 

India is available to 
a. People of India. 
b. Only Indian Citizens. 
c. All natural persons, citizens and non-citizens. 
d. All Indian Citizens and foreign ambassadors. 
e. Answer not known 
,e;jpa murpayikg;gpd; ~uj;J 32> murpayikg;G jPh;Tf;fhd chpikia gpd;tUk; ahUf;F 
toq;FfpWJ? 
a. ,e;jpa kf;fs; 
b. ,e;jpa Fbkf;fSf;F kl;Lk; 
c. midj;J ,ay;G egh;fs;> Fbkf;fs; kw;Wk; Fbkf;fs; my;yhNjhh;. 
d. midj;J ,e;jpa Fbkf;fs; kw;Wk; ntspehl;L J}jh;fs; 
e. tpil njhpatpy;iy 

 
171. Which one of the following is a bulwark of personal freedom? 

a. Quo Warranto  b. Mandamus  c. Habeas corpus    
d. Certiorari   e. Answer not known 
‘jdpegh; Rje;jpuj;jpd; muz;’ vdg;gLtJ vJ? 
a. jFjpKiw tpdTjy; b. fl;lis   c. Ml;nfhzh;    
d. Mtz Nfl;G  e. tpil njhpatpy;iy 
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172. Choose correct pair. 
i. NH in Tamil Nadu - 6666 km 
ii. TNRDC  - 1998 
iii. TNRIDC  - 2005 
iv. Tamil Nadu Maritime Board - 1997 
a. 1 pair b. 2 pairs c. 3 pairs d. 4 pairs e. Answer not known 
rupahd ,iziaf; fz;lwpf 
i. jkpo;ehl;by; Njrpa neLQ;rhiy - 6666 fpkP 
ii. TNRDC    - 1998 
iii. TRIDC    - 2005  
iv. jkpo;ehL fly;rhu; thupak; - 1997 
a. 1 ,iz   b. 2 ,izfs;  c. 3 ,izfs; 
d. 4 ,izfs;  e. tpil njupatpy;iy 
   

173. Tamil Nadu Policy for persons with Differently Abled is released in  
a. 1992 b. 1994 c. 1996  d. 2006 e. Answer not known 
khw;Wj;jpwdhspfSf;fhd nfhs;ifia jkpo;ehL muR ntspapl;l Mz;L 
a. 1992 b. 1994 c. 1996  d. 2006 e. tpil njupatpy;iy 

  
174. Which one of the following statement is correct? 

a. To amend the Constitution under Article – 368, two thirds majority of the total 
membership of both the houses of the parliament is required. 

b. No person shall be prosecuted and punished for the same offence more than once  
c. The total number of ministers, excluding the Prime Minister, in the Council of Ministers 

of India shall not exceed fifteen percent of total membership of the Lok Sabha. 
d. None of the above  
e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahd xd;W vJ? 
a. ruj;J 368d; fPo; murpayikg;ig jpUj;Jtjw;F ehlhSkd;wj;jpd; ,U mitfspd; 

nkhj;j cWg;gpdh;fspd; %d;wpy; ,uz;L gq;F ngUk;ghd;ik Njit. 
b. ve;j xU egh; kPJk;> xU Fw;wj;jpw;F xd;Wf;F Nkw;gl;l Kiw tof;F njhlug;gl;L 

jz;bf;fg;gl $lhJ. 
c. ,e;jpa mikr;ruitf; FOtpy;> gpujkiu jtph;j;J nkhj;j mikr;rh;fspd; vz;zpf;if> 

nkhj;j Nyhf;rgh cWg;gpdh;fspd; vz;zpf;ifapy; gjpide;J rjtpfpjj;jpw;F Nky; 
,Uf;ff; $lhJ. 

d. Nkw;fz;l vJTk; ,y;iy. 
e. tpil njhpatpy;iy 

 
175. Match list – I with list – II 
  List – I     List – II 

 (Schedules of the constitution) (provisions) 
A. Eighth Schedule    1. Allocation of seats in the Rajya Sabha to the  

states and the Union territories  
B. Fifth Schedule    2. Languages recognized by the constitution 
C. Seventh Schedule  3. Forms of oaths or affirmation 
D. Fourth Schedule    4. Division of powers between the union and  

the states 
5. Provisions relating to the administration and control of 
scheduled areas and scheduled tribes 
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  A B C D 
a. 3 5 4 1 
b. 3 4 5 1 
c.  2 5 4 1 
d.  2 3 1 4 
e. Answer not known 
gl;bay; I I gl;bay; II Tld; nghUj;J fPo;f;fz;l FwpaPLfspy; rhpahdij Njh;e;njL 

 gl;bay; I     gl;bay; II 
(murpayikg;gpd; ml;ltiz)  (nray;ghLfs;) 
A. vl;lhtJ ml;ltiz  1. khepy kw;Wk; A+dpad; gpuNjrq;fSf;fhd 
        uh[;argh ,lq;fspd; xJf;fPL. 
B. Ie;jhtJ ml;ltiz  2. murpayikg;ghy; mq;fPfhpf;fg;gl;l nkhopfs; 
C. VohtJ ml;ltiz  3. cWjp nkhop & gjtpg;gpukhzk; 
D. ehd;fhtJ ml;ltiz  4. kj;jpa kw;Wk; khepy muRfSf;F ,ilNaahd mjpfhu  

gfph;T 
      5. gl;bayplg;gl;l gFjpfs; kw;Wk; goq;Fbapdh;  

gFjpfspd; eph;thfk; njhlh;ghd Vw;ghLfs; 
  A B C D 

a. 3 5 4 1 
b. 3 4 5 1 
c.  2 5 4 1 
d.  2 3 1 4 
e. tpil njhpatpy;iy 

 
176. Consider the following statement. 

i. M-TIPB is reconstituted as FaMe TN. 
ii. M-TIPB was established in 2019. 
a. i alone is correct  b. ii alone is correct  c. Both are correct   
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f.  
i. M-TIPB MdJ FaMe TN vd;W khw;wpaikf;fg;gl;Ls;sJ 
ii. M-TIPB, 2019 Mk; Mz;L epWtg;gl;lJ 
a. i kl;Lk; rup  b. ii kl;Lk; rup  c. ,uz;Lk; rup 
d. ,uz;Lk; jtW  e. tpil njupatpy;iy 

 
177. Consider the following statement. 

i. TANSIM is branded as StartupTN. 
ii. TANSEED is part of TANSIM. 
iii. TN SC/ST Start-up fund is also part of TANSIM. 
a. ii, iii are correct   b. i, ii correct   c. All are correct 
d. All are wrong   e. Answer not known 
gpd;tUk;; $w;Wfis Ma;f 
i. TANSIM  MdJ Startup TN vd;W tpsk;gug;gLj;jg;gLfpwJ. 
ii. TANSEED MdJ TANSIM - ,d; xU gFjpahFk; 
iii. jkpo;ehL gl;baypdj;Njhu;/goq;Fbapdu; ,sq;FOk epjpAk; TANSIM ,d; xU 
gFjpahFk;. 
a. ii, iii rup    b. i> ii rup   c. midj;Jk; rup 
d. midj;Jk; jtW   e. tpil njupatpy;iy 
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178. The official name of GST Bill is: 
a. The Constitution (121st Amendment) Bill, 2014 
b. The Constitution (121st Amendment) Bill, 2015 
c. The Constitution (122nd Amendment) Bill, 2014 
d. The Constitution (122nd Amendment) Bill, 2016 
e. Answer not known 
GST kNrhjhtpd; mjpfhug;G+h;t ngau; _____ 
a. murpayikg;G (121tJ jpUj;j) kNrhjh> 2014  
b. murpayikg;G (121tJ jpUj;j) kNrhjh> 2015  
c. murpayikg;G (122tJ jpUj;j) kNrhjh> 2014 
d. murpayikg;G (122tJ jpUj;j) kNrhjh> 2016 
e. tpil njhpatpy;iy 

 
179. Union Government’s ‘PAHAL’ Scheme is related to: 

a. LPG subsidy transfer in consumer’s account. 
b. Toilets construction in schools 
c. Promoting girls education 
d. Ensuring health facilities to senior citizens 
e. Answer not known 
kj;jpa murhq;fj;jpd; 'gh`y;' (PAHAL) jpl;lk; vjDld; njhlh;GilaJ 
a. LPG khdpak; gadhspfspd; tq;fpf;fzf;Ff;F khw;wk;  
b. gs;spfspy; fopg;gplq;fs; fl;Ljy;  
c. ngz;Foe;ijfspd; fy;tp Kd;Ndw;wk;  
d. %j;j Fbkf;fSf;fhd Rfhjhu trjpia cWjp nra;jy;  
e. tpil njhpatpy;iy 

 
180. Which statement depict the best definition of sustainable development? 

a. It means optimal utilisation of natural resource 
b. Sustainable use and natural resource without considering the need of the future 

generation 
c. Present generation fulfils it’s needs while considers the need of future generation as 

well 
d. None of the above 
e. Answer not known 
epiyahd tsu;r;rpapd; rpwe;j tiuaiwia tpsf;Fk; thf;fpak; vJ? 
a. ,aw;if tsq;fis cfe;j Kiwapy; gad;gLj;JtjhFk;.   
b. vjph;fhy jiyKiwapd; Njitia fUj;jpy; nfhs;shky;> ,aw;if tsq;fspd; kPjhd 

epiyahd gad;ghL. 
c. jw;Nghija jiyKiw mjd; Njitfis G+h;j;jp nra;Ak; mNj Ntisapy; vjph;fhy 

re;jjpapdhpd; NjitiaAk; fUj;jpw;nfhs;tJ 
d. Nkw;$wpait vJTkpy;iy  
e. tpil njhpatpy;iy 

 
181. Tamil Nadu CM Fellowship program is implemented by _____ 

a. Bharathidasan Instituted of Management  b. Higher education department 
c. Bharathidasan University    d. Bharathiyar University 
e. Answer not known 
jkpo;ehL Kjyikr;rupd; Gj;jha;Tj; jpl;lj;ij _______ nray;gLj;JfpwJ. 
a. ghujpjhrd; Nkyhz;ik fy;tp epWtdk;  b. cau; fy;tpj; Jiw 
c. ghujpjhrd; gy;fiyf; fofk;    d. ghujpahu; gy;fiyf; fofk; 
e. tpil njupatpy;iy 
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182. Between 2000 April – 2021 March, Tamil Nadu attracted FDI worth ______ 
a. 31 bn USD    b. 31 mn USD   c. 34.5 mn USD 
d. 34.5 bn USD   e. Answer not known 
Vg;uy; 2000 Kjy; khh;r; 2021 tiu> jkpo;ehL <h;j;Js;s me;epa nryhtzp KjyPl;bd; kjpg;G> 
a. 31 gpy;ypad; mnkhpf;f lhyu;  b. 31 kpy;ypad; mnkhpf;f lhyu;  
c. 34.5 kpy;ypad; mnkhpf;f lhyu;  d. 34.5 gpy;ypad; mnkhpf;f lhyu;   
e. tpil njupatpy;iy 

 
183. Disinvestment of the public sector enterprises took place because of: 

a. Capacity unutilisation    b. Low profitability  
c. Increased burden of subsidy  d. All of the above 
e. Answer not known 
nghJj;Jiw epWtdq;fspy; gq;Ftpyf;fy; _____ fhuzkhf ele;jJ.  
a. jpwidg; gad;gLj;jh epiy  b. Fiwe;j yhgk; 
c. khdpaj;jpd; kPjhd mjpfhpj;j Rik  d. NkNy cs;s midj;Jk;  
e. tpil njhpatpy;iy 

 
184. Treasury bills are ____ instruments of the central government. 

a. Long term credit  b. Very long term credit   c. Short term credit  
d. Medium term credit e. Answer not known 
fUT+ygpy;fs; kj;jpa murhq;fj;jpd; vjw;fhd fUtpfshFk;?  
a. ePz;lfhy fld;   b. kpf ePz;l fhy fld;   c. FWfpa fhy fld;  
d. eLj;juf; fhy fld;  e. tpil njhpatpy;iy 

 
185. Choose correct pair 

i. Mega Food Park  - Thindivanam 
ii. E-Vehicle Park  - Manallur 
iii. Leather Park   - Panapakkam 
iv. Future Mobility Park - Shoolagiri 
v. Medicine Park  - Oragadam 
a. 2 pairs b. 3 pairs  c. 4 pairs d. 5 pairs e. Answer not known 
rupahd ,izfisf; fz;lwpf 
i. khngUk; czTg; G+q;fh - jpz;btdk; 
ii. E-thfd G+q;fh   - kzY}u; 
iii. Njhy; G+q;fh   - gzg;ghf;fk; 
iv. kpd; thfd G+q;fh  - #sfpup 
v. kUe;J G+q;fh   - xuflk; 
a. 2 ,izfs;  b. 3 ,izfs;  c. 4 ,izfs; 
d. 5 ,izfs;  e. tpil njupatpy;iy 

 
186. Which of the following measures to control inflation are taken by RBI? 

a. Instructs banks to reduce interest rate on lending b. Purchases bonds from public 
c. Reduces SLR      d. Raises CRR  
e. Answer not known 
gztPf;fj;ij fl;Lg;gLj;j gpd;tUk; eltbf;iffspy; vJ RBI My; vLf;fg;gLfpwJ? 
a. flDf;fhd tl;btPjj;ij Fiwf;f tq;fpfSf;F typAWj;jy;  
b. nghJ kf;fsplkpUe;J gj;jpuq;fis thq;Fjy;  
c. SLR I Fiwj;jy;      
d. CRR I cah;j;Jjy;  
e. tpil njhpatpy;iy 
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187. Lorenz curve is a technique to examine which of the following issues related to economic 
growth? 
a. Inequality in Education   b. Inequality of wealth distribution 
c. Environmental Sustainability  d. Land distribution 
e. Answer not known 
nghUshjhu tsh;r;rpAld; njhlh;Gila gpd;tUk; rpf;fy;fspy; vjid Ma;T nra;a yhud;]; 
tisT xU Kf;fpa El;gkhFk;? 
a. fy;tpapy; rkkpd;ik   b. nry;tgfph;tpy; rkkpd;ik 
c. Rw;Wr;#oy; epiyj;jd;ik  d. epyg;gfph;T 
e. tpil njhpatpy;iy 

 
188. Which among the following is the maximum pursued occupation in India? 

a. Trade  b. Craft occupation   c. Agriculture 
d. Mining  e. Answer not known 
gpd;tUtdtw;Ws; vJ ,e;jpahtpy; mjpfkhNdhh; nra;Ak; njhopy;? 
a. thzpfk;  b. fiyg; nghUl;fs;  c. Ntshz;ik 

d. Ruq;fk;  e. tpil njhpatpy;iy 
 
189. Which of the following is not the role of NITI Aayog? 

(i) Act as a think tank. 
(ii) Power to impose policies on states. 
(iii) Funds allocation 
a. i only    b. i and ii    c. ii and iii 
d. i and iii    e. Answer not known 
fPo;fz;ltw;wpy; vit epjp-MNahf;fpd; gzp ,y;iy? 
(i) xU MNyhrid FOthf nray;gLtJ. 
(ii) khepyq;fspy; jpl;lq;fis jpzpf;Fk; nray;jpwd;. 
(iii) epjp xJf;fPL 
a. i kl;Lk;    b. i kw;Wk; ii    c. ii kw;Wk; iii 
d. i kw;Wk; iii    e. tpil njhpatpy;iy 

 
190. Which tax is the different one? 

a. Wealth Tax    b. Income Tax  c. Corporate Tax 
d. Stamp duty    e. Answer not known 
fPo;f;fz;ltw;wpy; khWgl;l thp vJ? 
a. nry;t thp     b. tUkhd thp  c. epWtd thp 
d. Kj;jpiuj; jhs; thp   e. tpil njhpatpy;iy 

 
191. Pradhan Mantri Krishi Sinchayee Yojana was launched on ____. 

a. 2 October 2019  b. 10 June 2015  c. 14 March 2019   
d. 1 July 2015   e. Answer not known 
gpujk ke;jphp f;up~p rpd;rhap Nah[dh njhlq;fg;gl;l ehs; 
a. mf;Nlhgh; 2> 2019  b. [_d; 10> 2015  c. khh;r; 14> 2019   
d. [_iy 1> 2015  e. tpil njhpatpy;iy 

 
192. The Reserve Bank of India launched its medium-term strategy framework, namely 

‘Utkarsh 2022’ in _____.  
a. April 2019    b. July 2019   c. October 2019  
d. March 2019   e. Answer not known 
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‘cj;fh;~; 2022’ vdg;gLk; ,e;jpa uprh;t; tq;fpapd; eLj;ju fhy cj;jp fl;likg;G 
ntspaplg;gl;lJ  
a. Vg;uy; 2019    b. [_iy 2019  c. mf;Nlhgh; 2019  
d. khh;r; 2019    e. tpil njhpatpy;iy 

 
193. Match the following: 

Food Security Programmes    year of start 
 A. Antyodaya Anna Yojana    1. 2002-03 
 B. Nutritional Programme for Adolescent Girls  2. 2001 
 C. Emergency Feeding Programme   3. 2000 
 D. Village Grain Bank Scheme    4. 2004 
  A B C D 
 a. 3 1 4 2 
 b.  3 1 2 4 
 c.  4 1 2 3  
 d.  3 2 4 1 

e. Answer not known 
nghUj;Jf: 
czT ghJfhg;G jpl;lq;fs;    njhlq;fg;gl;l Mz;L 
A. mj;jpNahjah md;d Nah[dh    1. 2002 – 03 

 B. tshpsk; ngz;fSf;fhd Cl;lr;rj;Jj; jpl;lk; 2. 2001 
 C. mtrufhy czTj;jpl;lk;    3. 2000 
 D. fpuhk jhdpa tq;fpj; jpl;lk;    4. 2004 

A B C D 
 a. 3 1 4 2 
 b.  3 1 2 4 
 c.  4 1 2 3  
 d.  3 2 4 1 

e. tpil njhpatpy;iy 
 
194. Consider the following statements related to the Growth of population in underdeveloped 

nations: 
1. Low savings due to high level consumption expenditure 
2. It destroys the natural resources 
3. It stimulate greater productivity and savings 
Select the correct answers by using the codes: 
a. 1 only  b. 2 only    c. 1 and 2   
d. 2 and 3  e. Answer not known 
gpd;jq;fpa ehLfspy; fhzg;gLk; kf;fs; njhifg; ngUf;fk; Fwpj;j fUj;Jfis ftdj;jpy; 
nfhs;sTk;  
1. mjpf Efh;Tr; nrythy; Nrkpg;G FiwfpwJ.  
2. ,aw;if tsq;fs; mope;J NghFk; mstpw;F gad;gLj;jg;gLfpwJ.  
3. mjpf cw;gj;jpj; jpwd; kw;Wk; Nrkpg;ig Cf;Ftpf;fpwJ.  
FwpaPLfisg; gad;gLj;jp rhpahd tpil fhz;.  
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 
d. 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

195. Which committee is related to industrial licensing? 
a. Visweshwaraiah Committee b. Narasimham Committee 
c. Hazari Committee  d. Dutt Committee 
e. Answer not known 
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njhopw;Jiw chpkk; njhlh;ghd FO vJ? 
a. tp];Nt];ua;ah FO  b. eurpk;kk; FO  c. `rhhp FO  

d. jj; FO    e. tpil njhpatpy;iy 
 

196. The simple interest on a certain sum of money for 2 ½ years at 12% per annum is Rs. 40 less 
than the simple interest on the same sum for 3 ½ years at 10% per annum. Find the sum. 
a. 450  b. 600  c. 700  d. 800  e. Answer not known 
xU Fwpg;gpl;l njhiff;F tUltl;b 12% vDk;NghJ 2 ½ tUlj;jpy; fpilf;Fk; 
jdptl;bahdJ mNj njhiff;F tUltl;b 10% vDk;NghJ 3 ½ tUlj;jpy; fpilf;Fk; jdp 
tl;bia tpl &. 40 FiwT vdpy; me;j njhif vt;tsT? 
a. 450  b. 600  c. 700  d. 800  e. tpil njhpatpy;;iy 

  
197. A, B and C can do a work in 12, 24 and 8 days respectively. They all work for one day. Then 

C leaves the group. In how many days will A and B complete the rest of the work? 
a. 6 days  b. 8 days     c. 12 days   
d. 24 days  e. Answer not known 
A> B> C vd;gu; xU Ntiyia KiwNa 12> 24> 8 ehl;fspy; Kbg;ghu;fs;> ,k;%tUk; 
Nru;e;J xU ehs; Ntiy nra;jdu;. gpd; C tpyfp tpLfpwhu; vdpy;> A> B ,UtUk;; kPjKs;s 
Ntiyia Kbf;f MFk; ehl;fs; vj;jid? 
a. 6 ehl;fs;  b. 8 ehl;fs;    c. 12 ehl;fs;   
d. 24 ehl;fs;  e. tpil njhpatpy;;iy 

 
198. If the difference between 75% of a number and 60% of the same number is 82.5, then find 

20%of the number. 
a. 80  b. 100  c. 110  d. 150  e. Answer not known 
Xu; vz;zpd; 75% ,f;Fk; mNj vz;zpd; 60% ,f;Fk; ,ilNaAs;s tpj;jpahrk; 82.5 vdpy;> 
me;j vz;zpd; 20% If; fhz;f. 
a. 80  b. 100  c. 110  d. 150  e. tpil njhpatpy;;iy 

 
199. In an examination, a student scores 3 marks for every correct answer and loses one mark 

for every wrong answer. If he answers 80 questions in all and gets 160 marks find the 
number of questions he answered wrongly? 
a. 20  b. 40  c. 60   d. 10  e. Answer not known  
xU Njh;th; xt;nthU rhpahd tpilf;Fk; 3 kjpg;ngz; ngWfpwhh;. jtwhd tpilaspj;jhy; 1 
kjpg;ngz; ,of;fpwhh;. 80 tpdhf;fSf;F tpilaspj;j Njh;th; 160 kjpg;ngz; ngWfpwhh; vdpy; 
mth; jtwhf tpilaspj;j tpdhf;fspd; vz;zpf;if vd;d? 
a. 20  b. 40  c. 60   d. 10  e. tpil njhpatpy;iy 

 
200. An integer is chosen from the first twenty natural numbers. What is the probability that it 

is a prime number? 

a. 
1

2
  b. 

2

5
  c. 

9

20
  d. 

1

5
  e. Answer not known 

 
Kjy; ,UgJ ,ay; vz;fspypUe;J xU KO vz; rktha;g;G Kiwapy; 
Njh;e;njLf;fg;gLfpwJ. me;j vz; xU gfh vz;zhf ,Ug;gjw;fhd epfo;jftpidf; fhz;f. 

a. 
1

2
  b. 

2

5
  c. 

9

20
  d. 

1

5
   e. tpil njhpatpy;iy 
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MODEL EXAMINATION  

GENERAL STUDIES  
 
Duration : Three Hours                                 Total Marks : 300 
 
Read the following instructions carefully before you begin to answer the questions. 
 

IMPORTANT INSTRUCTIONS 
 

1. You will be supplied with this question booklet 15 minutes prior to the commencement of the examination. 
 

2. This question booklet contains 200 questions. Before answering the questions, you are requested to check 
whether all the questions are printed serially and ensure that there are no blank pages in the question booklet. 
If any defect is noticed in the question booklet, it shall be reported to the invigilator within the first 10 
minutes and get it replaced with a complete question booklet. If the defect is reported after the 
commencement of the examination, it will not be replaced. 
 

3. Answer all the questions. All the questions carry equal marks. 
 

4. You must write your register number in the space provided on the top right side of this page. Do not write 
anything else on the question booklet. 
 

5. An answer sheet will be supplied to you separately by the room invigilator to shade the answers. Instructions 
regarding filling of answers etc., which are to be followed mandatorily, are provided in the answer sheet and 
in the memorandum of admission (Hall Ticket). 
 

6. You shall write and shade your question booklet number in the space provided on page one of the answer 

sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the question 
booklet number, your answer sheet will be invalidated. 
 

7. Each question comprises of five responses (answers): i.e. (A), (B), (C), (D) and (E). You have to select ONLY 
ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet. If you feel that 
there are more than one correct answer, shade the one which you consider the best. If you do not know the 

answer, you have to mandatorily shade (E). In any case, choose ONLY ONE answer for each question. If you 
shade more than one answer for a question, it will be treated as a wrong answer even if one of the given 
answers happens to be correct. 
 

8. You should not remove or tear off any sheet from this question booklet. You are not allowed to take this 
question booklet and the answer sheet out of the examination room during the time of the examination. After 
the examination, you must hand over your answer sheet to the invigilator. You are allowed to take the 
question booklet with you only after the examination is over. 
 

9. You should not make any marking in the question booklet except in the sheets before the last page of the 
question booklet, which can be used for rough work. This should be strictly adhered to. 
 

10. In all matters, the English version is final. 
 

11. Failure to comply with any of the above instructions will render you liable for such action as the Commission 
may decide at their discretion. 

 


